#### IN THE UNITED STATES DISTRICT COURT FOR THE NORTHERN DISTRICT OF ILLINOIS EASTERN DIVISION

LAWRENCE E. JAFFE PENSION PLAN, on behalf of itself and all others similarly situated,	) ) )
Plaintiff,	) 02-cv-5893 (Consolidated)
VS.	) Judge Ronald A. Guzman
HOUSEHOLD INTERNATIONAL, INC., et al.,	)
Defendants.	)
	)

## MOTION AND BRIEF FOR PAYMENT OF FEES AND EXPENSES OF THE SPECIAL MASTER NO. 3

Now comes Phillip S. Stenger, the Special Master ("Special Master"), by and through his attorneys, Stenger & Stenger, P.C., and hereby submits this Motion and Brief for Payment of Fees and Expenses of the Special Master No. 3 ("Compensation Motion No. 3"), and asks this Court to enter an Order for payment of the fees and expenses of the Special Master as outlined below:

1. On September 21, 2012, this Court issued a Memorandum Opinion and Order ("September 2012 Order") [Dkt. No. 1822] appointing Phillip S. Stenger of Stenger & Stenger, P.C., as Special Master to identify in accordance with the Order: (i) the claims on which plaintiffs are entitled to judgment as a matter of law and the amount of each such allowed claim; (ii) the claims on which defendants are entitled to judgment as a matter of law; and (iii) the claims that must be resolved at trial.

- 2. On October 2, 2012, this Court issued a Statement ("October Statement") [Dkt. No. 1831] clarifying the September 2012 Order, and providing that the Special Master shall undertake any and all proceedings necessary to make one or more report(s) and recommendations(s) ("R&R(s)") to the Court:
  - A. Regarding defendants' objections to certain claims included in the report of the Claims Administrator Gilardi & Co [Dkt. No. 1800], the referral of which to former Magistrate Judge Nolan has been withdrawn;
  - B. Identifying the claimants who are entitled to judgment as to liability and determining the amount of damages each such claimant should receive;
  - C. Identifying the claimants whose claims must be resolved at trial (i.e. those who responded "yes" to the claim form question, submitted duplicate claims with conflicting answers to the claim form question or submitted multiple claims with different answers to the claim form question); and
  - D. Identifying the claimants who forfeited their claims by failing to answer the claim form question and/or supplemental interrogatory.
- 3. The October Statement further provided that the Special Master would submit to the Court monthly statements of the reasonable fees and expenses incurred to carry out his duties, and that after the Court has reviewed and approved them, the parties will pay in equal shares the reasonable fees and expenses incurred by the Special Master.
- 4. The Special Master therefore submits the following monthly invoices for review and approval:

- A. Invoice for services from November 1, 2013, through November 30, 2013, for fees in the amount of \$19,300.00 and expenses in the amount of \$207.90, for a total due and owing of \$19,507.90 (Exhibit A);
- B. Invoice for services from December 1, 2013, through December 31, 2013, for fees in the amount of \$22,821.00 and expenses in the amount of \$7.40, for a total due and owing of \$22,828.40 (Exhibit B);
- C. Invoice for services from January 1, 2014, through January 31, 2014, for fees in the amount of \$4,338.00 and expenses in the amount of \$7.13, for a total due and owing of \$4,345.13 (Exhibit C);
- D. Invoice for services from February 1, 2014, through February 28, 2014, for fees in the amount of \$3,194.00 and expenses in the amount of \$0.00, for a total due and owing of \$3,194.00 (Exhibit D);
- E. Invoice for services from March 1, 2014, through March 31, 2014, for fees in the amount of \$16,240.00 and expenses in the amount of \$0.00, for a total due and owing of \$16,240.00 (Exhibit E);
- F. Invoice for services from April 1, 2014, through April 30, 2014, for fees in the amount of \$1,350.00 and expenses in the amount of \$0.00, for a total due and owing of \$1,350.00 (Exhibit F);
- G. Invoice for services from May 1, 2014, through May 31, 2014, for fees in the amount of \$351.00 and expenses in the amount of \$0.00, for a total due and owing of \$351.00 (Exhibit G);

- H. Invoice for services from June 1, 2014, through June 30, 2014, for fees in the amount of \$181.00 and expenses in the amount of \$0.00, for a total due and owing of \$181.00 (Exhibit H);
- I. Invoice for services from October 1, 2014, through October 31, 2014, for fees in the amount of \$651.00 and expenses in the amount of \$0.00, for a total due and owing of \$651.00 (Exhibit I);
- J. Invoice for services from November 1, 2014, through November 30, 2014, for fees in the amount of \$2,082.00 and expenses in the amount of \$0.00, for a total due and owing of \$2,082.00 (Exhibit J);
- K. Invoice for services from February 1, 2015, through February 28, 2015, for fees in the amount of \$240.00 and expenses in the amount of \$0.00, for a total due and owing of \$240.00 (Exhibit K);
- L. Invoice for services from March 1, 2015, through March 31, 2015, for fees in the amount of \$270.00 and expenses in the amount of \$0.00, for a total due and owing of \$270.00 (Exhibit L);
- M. Invoice for services from April 1, 2015, through April 30, 2015, for fees in the amount of \$10,832.00 and expenses in the amount of \$0.00, for a total due and owing of \$10,832.00 (Exhibit M);
- N. Invoice for services from May 1, 2015, through May 31, 2015, for fees in the amount of \$3,498.50 and expenses in the amount of \$0.00, for a total due and owing of \$3,498.50 (Exhibit N);

- O. Invoice for services from June 1, 2015, through June 30, 2015, for fees in the amount of \$4,657.30 and expenses in the amount of \$36.60, for a total due and owing of \$4,693.90 (Exhibit O);
- P. Invoice for services from July 1, 2015, through July 31, 2015, for fees in the amount of \$2,476.00 and expenses in the amount of \$12.56, for a total due and owing of \$2,488.56 (Exhibit P);
- Q. Invoice for services from August 1, 2015, through August 31, 2015, for fees in the amount of \$13,155.50 and expenses in the amount of \$0.00, for a total due and owing of \$13,155.50 (Exhibit Q);
- R. Invoice for services from September 1, 2015, through September 30, 2015, for fees in the amount of \$1,324.50 and expenses in the amount of \$12.20, for a total due and owing of \$1,336.70 (Exhibit R);
- S. Invoice for services from October 1, 2015, through October 31, 2015, for fees in the amount of \$1,342.00 and expenses in the amount of \$15.80, for a total due and owing of \$1,357.80 (Exhibit S);
- T. Invoice for services from November 1, 2015, through November 30, 2015, for fees in the amount of \$360.00 and expenses in the amount of \$10.20, for a total due and owing of \$370.20 (Exhibit T); and
- U. Invoice for services from December 1, 2015, through December 31, 2015, for fees in the amount of \$480.00 and expenses in the amount of \$0.00, for a total due and owing of \$480.00 (Exhibit U).

WHEREFORE, the Special Master respectfully requests that this Court enter an Order directing the parties to pay the Special Master the aggregate sum of \$109,143.80 in fees and

\$309.79 in expenses, for a total sum of \$109,453.59 for the period November 1, 2013, through December 31, 2015, to be split equally between the parties.

Respectfully submitted:

STENGER & STENGER, P.C.

Dated: January 7, 2016.

By: /s/ Kay Griffith Hammond
Kay Griffith Hammond (P37425)
Attorney for Phillip S. Stenger, Special Master 2618 East Paris Avenue, SE
Grand Rapids, MI 49546
Telephone: 616-940-1190

Facsimile: 616-940-1192 E-mail: <u>kay@stengerlaw.com</u> **CERTIFICATE OF SERVICE** 

Kay Griffith Hammond, an attorney, hereby certifies that on January 7, 2016, I

authorized the electronic filing of the foregoing Motion and Brief for Payment of Fees and

Expenses of the Special Master No. 3 with the Clerk of the Court using the Court's CM/ECF

filing system, which will send notification of such filing to the e-mail addresses of the counsel of

record denoted on the attached Electronic Mail Notice List, and I caused true and correct copies

of the foregoing to be served by First Class mail on the non-ECF filers in this action denoted on

the Manual Notice List immediately following the Electronic Mail Notice List.

Dated: January 7, 2016.

By: /s/ Kay Griffith Hammond

Kay Griffith Hammond (P37425)

STENGER & STENGER, P.C.

Attorney for Phillip S. Stenger, Special Master

2618 East Paris Avenue, SE

Grand Rapids, MI 49546 Telephone: 616-940-1190

Facsimile: 616-940-1192

E-mail: kay@stengerlaw.com

### Mailing Information for a Case 1:02-cv-05893 Jaffe v. Household Intl Inc., et al

#### **Electronic Mail Notice List**

The following are those who are currently on the list to receive e-mail notices for this case.

#### • Landis C Best

lbest@cahill.com,JHall@cahill.com,MCremins@cahill.com,LPerlgut@cahill.com

#### • Debra L Bogo-Ernst

dernst@mayerbrown.com,courtnotification@mayerbrown.com

#### Luke O Brooks

lukeb@rgrdlaw.com,e file sd@rgrdlaw.com

#### • Mark Douglas Brookstein

mbrookstein@gouldratner.com,mwalstra@gouldratner.com

#### Susan Buckley

SBuckley@cahill.com

#### • Spencer A Burkholz

spenceb@rgrdlaw.com

#### • Dawn Marie Canty

dawn.canty@kattenlaw.com,jacqueline.vanfossan@kattenlaw.com,ecfdocket@kattenlaw.com

#### • Paul D. Clement

pclement@bancroftpllc.com

#### Yafit Cohn

YCohn@cahill.com

#### Jason C. Davis

jdavis@rgrdlaw.com,e\_file\_sf@rgrdlaw.com

#### • Luke DeGrand

ldegrand@degrandwolfe.com

#### • George Robert Dougherty

docket@shb.com,gdougherty@shb.com

#### · Michael J. Dowd

 $miked@rgrdlaw.com, debg@rgrdlaw.com, e\_file\_sd@rgrdlaw.com$ 

266590

#### • Daniel S. Drosman

 $Dand@rgrdlaw.com, tho lindrake@rgrdlaw.com, kcook@rgrdlaw.com, e\_file\_sd@rgrdlaw.com, below the lindrake and lindrake an$ 

#### · Laura Dawn Duston

laura@stengerlaw.com

#### · Nathan P. Eimer

neimer@eimerstahl.com,jhamann@eimerstahl.com,erogers@eimerstahl.com,fharvey@eimerstahl.com

#### • Patricia Farren

pfarren@cahill.com,MMcLoughlin@cahill.com,NMarcantonio@cahill.com

#### • Sheila Marie Finnegan

courtnotification@mayerbrown.com

#### Andrew J Fuchs

afuchs@skadden.com,chdocket@skadden.com

#### · Jason M. Hall

jhall@cahill.com

#### • Kay Griffith Hammond

kay@stengerlaw.com

#### Christine M. Johnson

cjohnson@eimerstahl.com,erogers@eimerstahl.com

#### • Thomas J Kavaler

tkavaler@cahill.com, SWatnik@cahill.com, SBuckley@cahill.com, MWernke@cahill.com, JNewville@cahill.com

#### Craig S. Kesch

ckesch@cahill.com,MMcLoughlin@cahill.com,NMarcantonio@cahill.com

#### · John F. Kloecker

jkloecker@lockelord.com,krichardson@lockelord.com,chicagodocket@lockelord.com

#### • Stewart Theodore Kusper

stewart.kusper@kusperlaw.com,paul.mallon@kusperlaw.com,renee.kusper@kusperlaw.com

#### • Tim S. Leonard

tleonard@jw.com,tlreed@jw.com

• Donna L. McDevitt

dmcdevit@skadden.com,chdocket@skadden.com

#### • Paul Millen

pmillen@cahill.com

#### • Marvin Alan Miller

 $\label{lem:miller:am$ 

#### Sally Weiss Mimms

smimms@lockelord.com, jastaton@lockelord.com, chicagodocket@lockelord.com

#### • Maureen E. Mueller

mmueller@rgrdlaw.com,e\_file\_sd@rgrdlaw.com

#### • Lucia Nale

LNale@mayerbrown.com,courtnotification@mayerbrown.com

#### • David R. Owen

dowen@cahill.com,KSmith@cahill.com,JBeer@cahill.com

#### • Eric S. Palles

epalles@ravitzpalles.com

#### · Keith F. Park

keithp@rgrdlaw.com

#### · Stanley J. Parzen

courtnotification@mayerbrown.com

#### · Lauren Perlgut

lperlgut@cahill.com

#### Mark Edward Rakoczy

mrakoczy@skadden.com,kzydron@skadden.com,chdocket@skadden.com

#### Gary Jay Ravitz

gravitz@ravitzpalles.com

#### • Robert Lee Schnell, Jr

rschnell@faegre.com

#### · Kim Smith

ksmith@cahill.com

#### · Gil M. Soffer

gil.soffer@kattenlaw.com, ecfdocket@kattenlaw.com

#### Gary L. Specks

gspecks@kaplanfox.com

#### · R. Ryan Stoll

rstoll@skadden.com, karen.zydron@skadden.com, chdocket@skadden.com

#### John Kenneth Theis

john.k.theis@usdoj.gov,erogers@eimerstahl.com,jlipinski@eimerstahl.com,fharvey@eimerstahl.com,achardon@eimerstahl.com,abrown@eimer

#### · Craig Allen Varga

cvarga@whdlaw.com,jkoronkiew@vblhc.com

#### · Scott Watnik

swatnik@cahill.com

#### Michael Wernke

mwernke@cahill.com

#### · Tracey L. Wolfe

twolfe@degrandwolfe.com, kdamptz@degrandwolfe.com, lfranklin@degrandwolfe.com, lfran

#### **Manual Notice List**

The following is the list of attorneys who are **not** on the list to receive e-mail notices for this case (who therefore require manual noticing). You may wish to use your mouse to select and copy this list into your word processing program in order to create notices or labels for these recipients.

#### Brudget C. Asay

109 State Street Montpelier, VT 05609-1001

#### Janet A. Beer

Cahill Gordon & Reindel, LLP 80 Pine Street New York, NY 10005

#### Patrick J Coughlin

Robbins Geller Rudman & Dowd LLP 655 West Broadway, #1900 San Diego, CA 92101

#### Frederic S. Fox

Kaplan Fox and Kilsheimer 850 Third Avenue 14th Floor New York, NY 10022

#### Laura C. Fraher

Cahill Gordon & Reindel LLP 80 Pine Street New York, NY 10005

#### Joshua M. Newville

Cahill Gordon & Reindel LLP 80 Pine Street New York, NY 10005

#### Jason A. Otto

Cahill Gordon & Reindel LLP 80 Pine Street New York, NY 10005

#### Howard G. Sloane

Cahill, Gordon & Reindel 80 Pine Street New York, NY 10005

# EXHIBIT A TO MOTION AND BRIEF FOR PAYMENT OF FEES AND EXPENSES OF THE SPECIAL MASTER NO. 3

Invoice for Services from November 1, 2013 through November 30, 2013

A MICHIGAN PROFESSIONAL CORPORATION

PHILLIP S. STENCER
ADMITTED IN MI, KY, MN, GA & CO
KAY GRIFFITH HAMMOND
ADMITTED IN MI
LAURA D. DUSTON
ADMITTED IN MI, KY, GA, CO & MD

JOSEPH M. JAMMAL ADMITTED IN MI & MN

AARON S. MURRAY ADMITTED IN IN

AMANDA BREWSTER ADMITTED IN MI

OF COUNSEL:

LEE T. SILVER
ADMITTED IN MI

Douglas W. Van Essen Admitted in MI 2618 East Paris Avenue, S.E. Grand Rapids, Michigan 49546

TELEPHONE (616) 940-1190 FACSIMILE (616) 940-1192 TOLL FREE (888) 305-7775 OF COUNSEL:
DENISE M. HALLETT
ADMITTED IN IN
MELISSA Y. HOFFMAN
ADMITTED IN NI & PA
DANIEL A. MANCINI
ADMITTED IN NI & PA
R. GARY MARSCHHAUSEN
ADMITTED IN MN
CINQUE AXAM
ADMITTED IN MA
ADMITTED IN GA
DANIELLE P. ROBERTS

ADMITTED IN CA

Invoice submitted to:

Jaffe Pension Plan v. Household International

December 06, 2013

Invoice # 19160

Professional Services through November 30, 2013

		Hrs/Rate	Amount
11/1/2013 AMB	Review B.3. objections sampling.	2.60 220.00/hr	572.00
LDD	Review and analysis of disputed claims and objections. Preparation of memorandum regarding same.	4.50 300.00/hr	1,350.00
11/4/2013 LDD	Review of disputed claims and analysis of objections regarding same. Preparation of memorandum regarding same.	5.50 300.00/hr	1,650.00
AMB	Review unbalanced claims objections sampling.	2.10 220.00/hr	462.00
11/5/2013 KGH	Review and edit draft report and recommendations regarding category E objections. Draft report and recommendation regarding category E and F objections. Legal research related to same.	2.20 300.00/hr	660.00
11/6/2013 KGH	Draft report and recommendation regarding defendants' Category E and F objections, and conduct legal research related to same. Conference with A. Brewster regarding excusable neglect rule. Receive and review updated status conference details.	4.40 300,00/hr	1,320.00

Jaffe Pension P	lan v. Household International		Page 2
	-	Hrs/Rate	Amount
11/6/2013 LD	D Attorney conference with A. Brewster regarding status of objections. Review of disputes and analysis of same.	1.50 300.00/h	450.00
AN	Review claims with objections for recurring issues. Review documents in samplings regarding the same. Conference with L. Duston regarding the same. Conference with K. Hammond regarding excusable neglect court rule. Research regarding the same.	7.40 220.00/h	1,628.00 r
ЛА	Retrieve various pleadings and documents for A. Brewster review. Preparation of correspondence to team regarding scheduled conference call with parties for 11/11/13.	0.50 110.00/h	55.00 r
11/7/2013 KG	CH Legal research related to and drafting of report and recommendation regarding category E and F objections.	1.00 300.00/h	300.00 r
AN	IB Review objections, samplings, and briefings regarding the same.	0.70 220.00/h	154.00 r
11/8/2013 LD	D Receive and examine new Lists 1,2, 3 and 4 for Supplemental Claimants. Preparation of correspondence to staff regarding same. Review of objections and analysis of same. Preparation of memorandum regarding same.	4.00 300.00/h	1,200.00 r
AN	1B Conference with L. Duston regarding status of objections. Conference with P. Stenger and L. Duston regarding the same. Review objections and begin preparation of memorandum regarding the same.	4.50 220.00/h	990.00 r
АА	Receive and review updated lists from parties. Save copy of same to case file. Receive and review various documents and court pleadings. Prepare and distribute correspondence regarding same.	1,50 110,00/h	165.00 г
KG	Receive and review correspondence from L. Duston regarding lists for claims subject to a D.4 or D.6 objection. Receive and review plaintiffs' motion for order approving form and manner of notice of fee application. Receive and review court's scheduling notice regarding same.	0.60 300.00/h	<b>180.00</b> r
11/11/2013 KG	CH Legal research and further drafting and editing of report and recommendation regarding objections. Correspondence exchanges with L. Duston regarding same.	2,80 300.00/h	840.00 r
LC	D Preparation for and attendance at conference call with counsel and staff regarding new lists. Receive and examine spreadsheets regarding same. Receive and review correspondence from K. Hammond regarding disputes with legal issues. Review of analysis provided by parties regarding same. Review of disputed claims and objections. Preparation of memorandum regarding same.	5.00 300.00/h	1,500.00 r
AM	1B Finish preparation of summary of objections. Participation in teleconference with the parties.	2.30 220.00/h	506. <b>0</b> 0

Jaffe Pension Plan	v. Household International	P	age 3
		Hrs/Rate	Amount
11/11/2013 JLH	Conference with team regarding status of claims.	0.50 110.00/hr	55.00
ANJ	Status conference with parties regarding revision of lists. Correspondence exchange with L. Duston regarding schedule of next status conference. Revise and finalize compensation motion. Conference with P. Stenger regarding same.	1.70 110.00/hr	187.00
PSS	Preparation for and attendance at conference call.	2.00 350.00/hr	700.00
11/12/2013 KGH	Conference with L. Duston regarding status of case and outstanding report and recommendations.	0.50 300.00/hr	150.00
LDD	Conference with K. Hammond regarding legal issues. Receive and examine notice of appeal. Review and approve motion for fees.	0.80 300.00/hr	240.00
JLH	Review exhibits for compensation motion.	0.20 110.00/hr	22.00
ANJ	Conferences with L. Duston and J. Hoag regarding compensation motion. Preparation of certificate of service for same. Finalize and e-file compensation motion and certificate of service. Preparation of cover letter to court regarding service copies of same. Coordinate service of same.	2.70 110.00/hr	297.00
11/13/2013 KGH	Receive and review Household's notice of appeal, surety bond, notice of appeal due letter sent to counsel of record and notice of transmission of short record on notice of appeal.	0.20 300.00/hr	60.00
ANJ	Preparation of service copies of compensation motion to non-ECF filing parties. Coordinate service of same.	1.90 110.00/hr	209.00
11/14/2013 KGH	Receive and review correspondence from M. Dowd regarding updated Lists 1-4. Receive and review lists.	0.30 300.00/hr	90.00
LDD	Receive and review correspondence from M. Dowd regarding updated lists. Receive and examine updated Lists, Review of disputed claims and analysis of same.	1.50 300.00/hr	450.00
11/15/2013 LDD	Review of new list 4 disputed claims and analysis of same. Preparation of memorandum regarding same.	4,50 300,00/hr	1,350.00
ANJ	Retrieve and save pleading to system. Preparation of correspondence to team regarding same.	0.30 110.00/hr	33.00
PSS	Review of new lists and analysis of same.	1.50 350.00/hr	525.00
11/18/2013 LDD	Review of disputed claims and analysis of same. Preparation of memorandum regarding same.	1.00 300,00/hr	300.00

Jaffe Pension P	lan v. Household International	. !	Page 4
		Hrs/Rate	Amount
11/19/2013 KG	Receive and review plaintiffs' motion to file objection to supersedeas bond, plaintiffs' objections to form of supersedeas bond, plaintiffs' bill of costs, and order approving form and manner of notice of lead counsel's application for fees and costs,	0.20 300.00/hr	60.00
LD	D Review of filings with court regarding appeal and bond. Review of disputed issues and analysis of same.	1.20 300.00/hr	360.00
AN	J Retrieve and save various pleadings from case docket. Preparation of correspondence to team regarding same.	0.80 110.00/hr	88.00
11/20/2013 KG	Receive and review correspondence from L. Duston regarding draft response to objections to proposed investor claims procedure.	0.20 300.00/hr	60.00
11/25/2013 AN	National Receive and review various documents and court pleadings. Prepare and distribute correspondence regarding same.	0.20 110.00/hr	22.00
11/26/2013 KG	Receive and review defendants' response to objections to form of supersedeas bond.	0.20 300.00/hr	60.00
Fo	r professional services rendered	75.50	\$19,300.00
Ad	ditional Charges :		
11/12/2013 Fe	deral Express		16.10
11/30/2013 Po	stage		23.10
PA	CER Charges: Public Access to Court Records		9.00
Mi	leage and parking for Phillip Stenger's attendance at status hearing October 2	3, 2013	159.70
То	tal costs		\$207.90
То	tal amount of this bill		\$19,507.90
Name	Summary Hours	Rate	Amount
Amanda M. Brev	wster 19.60	220.00	\$4,312.00 \$1,056.00
Andrea N. Jame Jamie L. Hoag	0.70	110.00	\$77.00
Kay Griffith Ham Laura D. Duston Phillip S. Stenge	29.50	300.00	\$3,780.00 \$8,850.00 \$1,225.00

# EXHIBIT B TO MOTION AND BRIEF FOR PAYMENT OF FEES AND EXPENSES OF THE SPECIAL MASTER NO. 3

Invoice for Services from December 1, 2013 through December 31, 2013

A MICHICAN PROFESSIONAL CORPORATION

PHILLIP S. STENGER ADMITTED IN MI, KY, MN, CA & CO KAY GRIFFITH HAMMOND ADMITTED IN MI Laura D. Duston ADMITTED IN MI, KY, CA, CO & MD JOSEPH M. JAMMAL ADMITTED IN MI & MN AARON S. MURRAY

ADMITTED IN IN

Amanda M. Brewster ADMITTED IN MI OF COUNSEL: LEE T. SILVER ADMITTED IN MI

Douglas W. Van Essen ADMITTED IN MI

2618 EAST PARIS AVENUE, S.E. CRAND RAPIDS, MICHIGAN 49546

TELEPHONE (616) 940-1190 FACSIMILE (616) 940-1192 TOLL FREE (888) 305-7775 OF COUNSEL: DENISE M. HALLETT ADMITTED IN IN MELISSA Y. HOFFMAN ADMITTED IN N) & PA Daniel A. Mancini ADMITTED IN NJ & PA R. GARY MARSCHHAUSEN ADMITTED IN CO LISA HASTER ADMITTED IN MN CINQUE AXAM ADMITTED IN CA DANIELLE P, ROBERTS ADMITTED IN CA

Invoice submitted to:

Jaffe Pension Plan v. Household International

January 07, 2014

Invoice # 19169

Professional Services through December 31, 2013

		Hrs/Rate	Amount
12/2/2013 LDD	Review of lists and preparation of issues regarding same.	0.50 300.00/hr	150.00
KGH	Receive and review executive committee order referring plaintiffs' objection to supersedeas bond to magistrate for resolution. Legal research regarding defendants' F objections. Draft report and recommendation.	3.80 300.00/hr	1,140.00
ANJ	Receive and review various documents and court pleadings. Prepare and distribute correspondence regarding same.	0.30 110.00/hr	33.00
12/3/2013 KGH	Receive and review magistrate's order granting plaintiffs' motion to file objections to form of supersedeas bond. Draft report and recommendation regarding F category objections.	2.90 300.00/hr	870.00
ANJ	Receive and review various documents and court pleadings. Prepare and distribute correspondence regarding same. Retrieve pleadings for P. Stenger review.	0.50 110.00/hr	55.00

Jaffe Pension Plar	v. Household International	P	age 2
		Hrs/Rate	Amount
12/4/2013 KGH	Draft report and recommendation regarding F category objections.	1.00 300.00/hr	300.00
ANJ	Receive and review various documents and court pleadings. Prepare and distribute correspondence regarding same.	0.20 110.00/hr	22.00
12/5/2013 KGH	Draft report and recommendation concerning category F objections. Legal research regarding same. Conference with L. Duston regarding same.	2.80 300.00/hr	840.00
12/9/2013 LDD	Receive and review correspondence from M. Dowd regarding updated lists. Preparation of correspondence to P. Stenger regarding outstanding issues regarding same.	0.60 300.00/hr	180.00
KGH	Draft report and recommendation regarding category F objections. Preparation of correspondence to A. Brewster regarding same. Receive and review correspondence from L. Duston regarding same. Conference with A. Suttner regarding claim of HSBC-North American TRIP.	3.30 300.00/hr	990.00
AMB	Review of B.1 and B.2 objections. Review F.1 objections and begin preparation of memorandum regarding the same.	3.70 220.00/hr	814.00
ANJ	Research regarding F.2. objections and supporting documentation. Correspondence exchanges with L. Duston and K. Hammond regarding same.	1.50 110.00/hr	165.00
PSS	Receive and review correspondence from M. Dowd. Reply to same.	0.20 350.00/hr	70.00
12/10/2013 KGH	Conference with A. Brewster regarding category F.1 objections. Corporation research regarding HSBC Finance Corp. and HSBC North America Holdings. Inc. Draft report and recommendation on objections.	2.00 300.00/hr	600.00
AMB	Preparation of draft report regarding F.1 objections. Conference with K. Hammond regarding the same.	5.00 220.00/hr	1,100.00
12/11/2013 AME	Research regarding B objections.	4.50 220.00/hr	990.00
KGH	Receive and review draft report and recommendation regarding F.1 objections from A. Brewster. Preparation of correspondence to A. Brewster regarding draft. Research regarding control elements in relationship between Household and HSBC North America Tax Reduction Investment Plan. Draft report and recommendation regarding F.2 objections. Receive and review court order granting compensation motion. Receive and review joint proposed schedule for discovery as to claimants who responded yes to reliance question.	3.70 300.00/hr	1,110.00

Jaffe Pension Plan	v. Household International	Pa	age 3
		Hrs/Rate	Amount
12/12/2013 KGH	Draft report and recommendation regarding F objections. Conference with L. Duston regarding status of same. Preparation for and attendance at status conference with P. Stenger and L. Duston.	2.80 300.00/hr	840.00
LDD	Preparation for and attendance at staff meeting regarding status of matter.	1.50 300.00/hr	450.00
AMB	Participation in status meeting with P. Stenger, K. Hammond, L. Duston, and A. James.	0.50 220.00/hr	110.00
ANJ	Conference with attorneys regarding status of objection review and formulation of recommendations concerning same.	1.20 110.00/hr	132.00
12/16/2013 KGH	Receive and review memo regarding summary of objections from A. Brewster. Draft and edit proposed report and recommendations regarding category E and F objections. Preparation of correspondence to A. Brewer regarding review and comment.	3.60 300.00/hr	1,080.00
AMB	Research regarding F objections.	3.50 220.00/hr	770.00
12/17/2013 KGH	Receive and review plaintiffs' motion for entry of bill of costs.  Conference with A. Brewster regarding category F objections.  Correspondence exchange with L. Duston regarding same. Draft correspondence to parties regarding F.2 objection. Preparation of correspondence to L. Duston regarding same.	1.00 300.00/hr	300.00
LDD	Conference with K. Hammond regarding F objections. Receive and review correspondence from counsel regarding outstanding issues.	0.30 300.00/hr	90.00
ANJ	Receive and review various documents and court pleadings. Prepare and distribute correspondence regarding same.	0.40 110.00/hr	44.00
12/18/2013 KGH	Receive and review court order overruling plaintiffs' objection to form of supersedeas bond. Conference with L. Duston regarding report and recommendation concerning objections to claims procedure. Review outstanding documentation required to draft report and recommendation on defendants' objections to claims. Conference with A. Brewster regarding F.4 objection issues.	1.00 300.00/hr	300.00
LDD	Correspondence exchanges with counsel regarding conference call. Conference with A. Brewster regarding F objections. Preparation for conference call with parties.	1.20 300.00/hr	360.00
АМВ	Continue review of F.4 objections. Research regarding the same. Conference with K. Hammond regarding the same.	4.50 220,00/hr	990.00
LNA	Retrieve and review various court documents and pleadings. Save same to case file.	0.30 110.00/hr	33.00

Jaffe Pension Plan	v. Household International	Pa	ige 4
		Hrs/Rate	<u>Amount</u>
12/19/2013 KGH	Conferences with A. Brewster regarding issues raised by F.2 and F.4 category objections. Preparation for and attendance at telephonic status conference with parties' counsel.	2.00 300.00/hr	600.00
LDD	Preparation for and attendance at conference call with parties. Attorney analysis conference with A. Brewster regarding F objections. Review and revise correspondence to parties regarding status of conference call.	1.80 300.00/hr	540.00
AMB	Continue review of F.4 objections. Conference with K. Hammond and L. Duston regarding the same. Participation in conference call regarding outstanding List 4 objections. Preparation of draft letter to parties regarding the same. Make revisions to the same.	2.90 220.00/hr	638.00
JLH	Status meeting with team members.	0.80 110.00/hr	88.00
PSS	Preparation for and attendance at conference call to discuss provision of additional information by parties.	1.00 350.00/hr	350.00
ANJ	Conference call with parties regarding clarification of most recent list of disputed claims and objections.	1.00 110.00/hr	110.00
12/20/2013 AMB	Research regarding B objections.	1.50 220.00/hr	330.00
LDD	Review of disputed matters and analysis of same.	1.50 300.00/hr	450.00
12/26/2013 KGH	Receive and review correspondence from M. Rakoczy regarding follow-up on D.6 objections, and on Household TRIP plan documents request.	0,20 300.00/hr	60.00
ANJ	Receive and review correspondence from Gilardi regarding claims documentation uploaded to file-sharing website. Correspondence exchanges with L. Duston regarding same.	1.00 110.00/hr	110.00
12/30/2013 KGH	Receive and review claim forms and documentation regarding F.4 objections.	0.50 300.00/hr	150.00
LDD	Review of disputed issues and analysis of same. Preparation of memorandum regarding same.	3.50 300.00/hr	1,050.00
AMB	Research regarding B Objections.	1.60 220.00/hr	352.00
12/31/2013 AMB	Research regarding B Objections.	4.50 220.00/hr	990.00
LDD	Review of objections and analysis of same. Preparation of memorandum regarding same.	6.00 300.00/hr	1,800.00

Jaffe Pension Plan	v. Household International		1	Page 5
			Hrs/Rate	Amount
12/31/2013 ANJ	Review and update attorney correspondence binders. Review attorney pleadings binders. Receive and review notifications regarding pleadings filed by parties.	ney	2.50 110.00/hr	275.00
For pr	ofessional services rendered	_	90.60	\$22,821.00
Additi	onal Charges :			A.
12/31/2013 PACE	R Charges: Public Access to Court Records			7.40
Total	costs			\$7.40
Total	amount of this bill		_	\$22,828.40
Namo	Summary	<u>Hours</u>	Rate _	Amount
Name Amanda M. Brewsto Andrea N. James Jamie L. Hoag Kay Griffith Hammo Laura D. Duston Phillip S. Stenger	er	32.20 8.90 0.80 30.60 16.90 1.20	220.00 110.00 110.00 300.00 300.00 350.00	\$7,084.00 \$979.00 \$88.00 \$9,180.00 \$5,070.00 \$420.00

# EXHIBIT C TO MOTION AND BRIEF FOR PAYMENT OF FEES AND EXPENSES OF THE SPECIAL MASTER NO. 3

Invoice for Services from January 1, 2014 through January 31, 2014

A MICHIGAN PROFESSIONAL CORPORATION

PHILLIP S. STENGER
ADMITTED IN MI, KY, MN, GA & CO
KAY GRIFFITH HAMMOND
ADMITTED IN MI
LAURA D. DUSTON
ADMITTED IN MI, KY, GA, CO & MD
JOSEPH M. JAMMAL
ADMITTED IN MI & MN
AARON S. MURRAY
ADMITTED IN IN
AMANDA M. BREWSTER

2618 EAST PARIS AVENUE, S.E. GRAND RAPIDS, MICHICAN 49546

TELEPHONE (616) 940-1190 Facsimile (616) 940-1192 Toll Free (888) 305-7775 OF COUNSEL:
DENISE M. HALLETT
ADMITTED IN IN
MELISSA Y. HOFFMAN
ADMITTED IN NJ & PA
DANIEL A. MANCINI
ADMITTED IN NJ & PA
R. GARY MARSCHHAUSEN
ADMITTED IN MO
LISA HASTER
ADMITTED IN MN
CINQUE AXAM
ADMITTED IN CA
DANIELLE P. ROBERTS
ADMITTED IN GA

Invoice submitted to:

ADMITTED IN MI

ADMITTED IN MI DOUGLAS W. VAN ESSEN ADMITTED IN MI

OF COUNSEL:

LEE T. SILVER

Jaffe Pension Plan v. Household International

February 11, 2014

Invoice # 19180

Professional Services through January 31, 2014

		Hrs/Rate	Amount
1/2/2014 AMB	Research regarding B Objections. Begin preparation of memo regarding the same. Review draft Report and Recommendation regarding E & F Objections.	6.50 220.00/hr	1,430.00
LNA	Retrieve and save pleading to case file. Preparation of correspondence to attorneys regarding same.	0.80 110.00/hr	88.00
1/3/2014 KGH	Receive and review documentation regarding HSBC North America Tax Reduction Investment Plan ("TRIP"). Receive and review correspondence from A. Brewster regarding same and regarding HSBC ADS fund. Receive and review correspondence from L. Duston regarding same. Preparation of correspondence to A. Brewster regarding terms of TRIP plan regarding plan administration.	1.00 300.00/hr	300.00
АМВ	Review HSBC-TRIP documents. Preparation of draft analysis regarding the same. Receive and review correspondence between parties and L. Duston regarding additional documentation. Preparation of correspondence regarding the same.	3.00 220.00/hr	660.00

Jaffe Pensio	n Plan	v. Household International	F	Page 2
			Hrs/Rate	Amount
1/3/2014	LDD	Receive and review correspondence from M. Rakoczy regarding TRIP documents. Preparation of correspondence to A. James and A. Brewster regarding same. Preparation of correspondence to M. Rakoczy regarding HSBC ADS fund documents. Conference with A. Brewster regarding same.	0.60 300.00/hr	180.00
	ANJ	Receive and review Household TRIP plan documents. Save copies of same to case database. Preparation of correspondence to attorneys regarding same. Update attorney correspondence binders.	2.00 110.00/hr	220.00
1/7/2014	KGH	Receive and review further documentation regarding HSBC North America Tax Reduction Investment Plan. Correspondence exchange with A. Brewster regarding same. Receive and review defendants' objections to plaintiffs' motion for bill of costs.	0.60 300.00/hr	180.00
1/8/2014	KGH	Conference with A. Brewster regarding recommendation as to F.4 objections.	0.20 300.00/hr	60.00
	AMB	Review Trust Agreement regarding F.4 Objections. Conference with K. Hammond regarding the same. Preparation of analysis regarding the same.	2.00 220.00/hr	440.00
1/9/2014	KGH	Receive and review draft report and recommendation regarding E and F objections. Preparation of correspondence to A,. Brewster regarding same.	0.60 300.00/hr	180.00
	LDD	Attorney analysis conference with A. Brewster regarding B and C objections.	0.40 300.00/hr	120.00
1/16/2014	KGH	Conference with L. Duston regarding second distribution motion. Review and edit motion and memorandum for second distribution of restitution fund. Receive and review correspondence from M. Dowd regarding claim to be removed from list.	1.20 300.00/hr	360.00
1/22/2014	KGH	Receive and review plaintiff's reply in further support of motion for bill of costs.	0.20 300.00/hr	60.00
	KGH	Receive and review plaintiff's motion to supplement joint motion to supplement record on appeal.	0,20 300.00/hr	60.00
	For pr	rofessional services rendered	19.30	\$4,338.00
	Additi	onal Charges :		
1/1/2014	PACE	ER Charges: Public Access to Court Records		6.70
1/31/2014	Posta	ge		0.43
	Total	costs		\$7.13

Jaffe Pension Plan v. Household International	Page 3
	Amount
Total amount of this bill	\$4,345.13

Sui	mmary		
Name	Hours _	Rate	Amount
Amanda M. Brewster	11.50	220.00	\$2,530.00
Andrea N. James	2.80	110.00	\$308.00
Kay Griffith Hammond	4.00	300.00	\$1,200.00
Laura D. Duston	1.00	300.00	\$300.00

# EXHIBIT D TO MOTION AND BRIEF FOR PAYMENT OF FEES AND EXPENSES OF THE SPECIAL MASTER NO. 3

Invoice for Services from February 1, 2014 through February 28, 2014

A MICHIGAN PROFESSIONAL CORPORATION

PHILLIP S. STENGER
ADMITTED IN MI. KY, MN, CA & CO
KAY GRIFFITH HAMMOND
ADMITTED IN MI
LAURA D. DUSTON
ADMITTED IN MI, KY, GA, CO & MD
JOSEPH M JAMMAL
ADMITTED IN MI & MN
AMANDA M. BREWSTER
ADMITTED IN MI
AARON S. MURRAY
ADMITTED IN IN
ANTHONY J. HUSPASKA
ADMITTED IN OH
OF COUNSEL:

2618 East Paris Avenue, S.E. Crand Rapids, Michigan 49546

TELEPHONE (616) 940-1190 Facsimile (616) 940-1192 Toll Free (888) 305-7775

OF COUNSEL: DOUGLAS W. VAN ESSEN ADMITTED IN MI DENISE M. HALLETT ADMITTED IN IN MELISSA Y. HOFFMAN ADMITTED IN NJ & PA DANIEL A, MANCINI ADMITTED IN NJ & PA R. GARY MARSCHHAUSEN ADMITTED IN CO LISA HASTER ADMITTED IN MN CINQUE AXAM ADMITTED IN GA DANIELLE P. ROBERTS ADMITTED IN CA

Invoice submitted to:

ADMITTED IN MI

LEE T. SILVER

Jaffe Pension Plan v. Household International

March 07, 2014

Invoice # 19186

Professional Services through February 28, 2014

		Hrs/Rate	Amount
2/12/2014 ANJ	Correspondence exchanges regarding investor inquiry into status of claim.	0.50 110.00/hr	55.00
2/13/2014 LDD	Preparation for status meeting. Attendance at status meeting and attorney analysis conference regarding issues.	1.40 300.00/hr	420.00
KGH	Participate in status conference with L. Duston, P. Stenger and A. Brewster. Correspondence exchange with L. Duston regarding inquiry from claimant. Receive and review correspondence from A. James regarding claimant inquiry.	1.00 300.00/hr	300.00
AMB	Conference with P. Stenger, L. Duston, K. Hammond, and A. James regarding status of the matter.	0.30 220.00/hr	66.00
PSS	Review status of matter.	0.50 350.00/hr	175.00
ANJ	Preparation for and attendance at status conference with team regarding issues currently under review. Telephone conversation with investor regarding inquiry as to status of claim.	1.80 110.00/hr	198.00

Jaffe Pensio	n Plan	v. Household International		F	⊃age	2
			<del></del>	Hrs/Rate	Am	ount
2/14/2014	LDD	Review of disputed issues and analysis of same. Preparation of memorandum regarding same.		1.20 300.00/hr	360	0.00
2/24/2014	LDD	Review of disputed issues and analysis of same. Preparation of memorandum regarding same.		1.80 300.00/hr	54	0.00
2/26/2014	LDD	Attorney analysis conference with K. Hammond regarding object and analysis regarding same.	ons	0.80 300.00/hr	24	0.00
	KGH	Conferences with L. Duston regarding maintained purported D.6 objections. Begin claim review sampling as to proper objection categorization regarding same.		2.80 300.00/hr	84	0.00
	For pr	ofessional services rendered		12.10	\$3,19	4.00
		Summary				
Name			<u>Hours</u>	Rate		<u>ount</u>
Amanda M. E	Brewste	er	0.30			6.00
Andrea N. Ja			2.30	,		3.00
Kay Griffith F		nd	3.80		\$1,14	
Laura D. Dus			5.20		\$1,56	
Phillip S. Ste	nger		0.50	350.00	\$17	5.00

# EXHIBIT E TO MOTION AND BRIEF FOR PAYMENT OF FEES AND EXPENSES OF THE SPECIAL MASTER NO. 3

Invoice for Services from March 1, 2014 through March 31, 2014

A MICHIGAN PROFESSIONAL CORPORATION

PHILLIP S. STENGER
ADMITTED IN MI, KY, MN, GA & CO
KAY CRIFFITH HAMMOND
ADMITTED IN MI
LAURA D. DUSTON
ADMITTED IN MI, KY, GA. CO & MD
JOSEPH M. JAMMAL
ADMITTED IN MI & MN
AMANDA M. BREWSTER
ADMITTED IN MI
AARON S. MURRAY
ADMITTED IN IN

2618 East Paris Avenue, S.E. Grand Rapids, Michigan 49546

TELEPHONE (616) 940-1190 FACSIMILE (616) 940-1192 TOLL FREE (888) 305-7775

OF COUNSEL: DOUGLAS W. VAN ESSEN ADMITTED IN MI DENISE M. HALLETT ADMITTED IN IN MELISSA Y. HOFFMAN ADMITTED IN NJ & PA Daniel A. Mancini ADMITTED IN NJ & PA R. GARY MARSCHHAUSEN ADMITTED IN CO LISA HASTER ADMITTED IN MN CINQUE AXAM ADMITTED IN GA DANIELLE P. ROBERTS ADMITTED IN CA

Invoice submitted to:

ADMITTED IN MI

Anthony J. Huspaska

ADMITTED IN OH

OF COUNSEL:

LEE T, SILVER

Jaffe Pension Plan v. Household International

April 08, 2014

Invoice # 19193

#### Professional Services through March 31, 2014

•		Hrs/Rate	Amount
3/4/2014 KGH	Analysis of defendants' maintained claim objections for accuracy of objection classification. Draft analysis spreadsheet.	4.40 300.00/hr	1,320.00
3/5/2014 KGH	Analysis of defendants' maintained claim objections for accuracy of objection classification. Conference with L. Duston regarding same. Receive and review correspondence from L. Duston regarding same.	4.80 300.00/hr	1,440.00
LDD	Attorney analysis conference with K. Hammond regarding D.4./D.6. objections. Preparation of correspondence to K. Hammond regarding same.	0.60 300.00/hr	180.00
3/10/2014 AMB	Continue preparation of memorandum regarding B.1, and B.2, objections.	1.70 220.00/hr	374.00
3/11/2014 KGH	Analysis of defendants' maintained D.6. claim objections for accuracy of objection classification. Draft analysis spreadsheet.	3.70 300.00/hr	1,110.00
3/12/2014 KGH	Analysis of defendants' maintained claim objections for accuracy of objection classification. Draft spreadsheet results of analysis. Draft memo to Special Master regarding same.	3.80 300.00/hr	1,140.00

Jaffe Pension	Plan	v. Household International		F	Page	2
				Hrs/Rate	Amou	<u>ınt</u>
3/13/2014 K	(GH	Analysis of defendants' maintained claim objections to determine proper objection categories. Draft spreadsheet of results.		6.80 300.00/hr	2,040.	00
3/17/2014 K	ŒН	Analysis of maintained D.6 claim objections for accuracy of objection categories. Draft analysis spreadsheet.	on	4.70 300.00/hr	1,410.	00
3/18/2014 K		Analysis of defendants' maintained D.6 objections for accuracy of objection categories. Draft analysis spreadsheet.		4.50 300.00/hr	1,350.	00
3/19/2014 K	(GH	Analysis of defendants' maintained D.6 objections for accuracy of objection categories. Draft analysis spreadsheet.		5.10 300.00/hr	1,530.	00
3/20/2014 K	(GH	Analysis of defendants' maintained D.6 objections for accuracy of objection categories. Review analysis spreadsheet. Conference w A. James regarding spreadsheet issues.	vith	1.70 300.00/hr	510.	.00
3/24/2014 K	(GH	Correspondence exchange and conference with A. James regarding analysis of defendants' maintained "D.6" objections.	ng	0.60 300.00/hr	180.	.00
А	ANJ	Review and analyze K. Hammond spreadsheet regarding discrepancies in breakdown of remaining objections by category. Preparation of summary regarding findings. Conference with K. Hammond regarding same.		1.60 110.00/hr	176.	.00
3/25/2014 K	(GH	Receive and review plaintiff's motion for reconsideration of magistrates's opinion and order regarding costs. Draft memo regarding analysis of defendants' maintained "D.6" objections. Correspondence exchange with A. James regarding analysis spreadsheet.		3.20 300.00/hr	960	.00
3/26/2014 K	KGH	Draft categorical analysis spreadsheet of defendants' maintained "claim objections. Draft memo regarding form and results of categorical analysis. Preparation of correspondence to L. Duston regarding same.	D.6"	2.90 300.00/hr	870	.00
3/31/2014 L	_DD	Receive and examine memorandum from K. Hammond regarding D.6. objections. Review of disputed claims and analysis of same. Preparation of memorandum regarding same.		5.50 300.00/hr	1,650	.00
F	or pr	ofessional services rendered	-	55.60	\$16,240	.00
Name		Summary	Hours	Rate _	Amo	unt
Amanda M. Br	ewste	er	1.70	220.00	\$374	.00
Andrea N. Jam	nes		1.60	110.00	\$176	
Kay Griffith Ha Laura D. Dusto		nd	46.20 6.10	300.00 300.00	\$13,860 \$1,830	
					•	

# EXHIBIT F TO MOTION AND BRIEF FOR PAYMENT OF FEES AND EXPENSES OF THE SPECIAL MASTER NO. 3

Invoice for Services from April 1, 2014 through April 30, 2014

A MICHICAN PROFESSIONAL CORPORATION

PHILLIP S. STENGER
ADMITTED IN MI, KY, MN, CA & CO
KAY GRIFFITH HAMMOND
ADMITTED IN MI
LAURA, D., DUSTON
ADMITTED IN MI, KY, GA, CO & MD

JOSEPH M. JAMMAL ADMITTED IN MI & MN

AMANDA M. BREWSTER ADMITTED IN MI AARON S. MURRAY

ADMITTED IN IN ANTHONY J. HUSPASKA ADMITTED IN OH

OF COUNSEL: LEE T. SILVER ADMITTED IN MI 2618 East Paris Avenue, S.E. Grand Rapids, Michican 49546

Telephone (616) 940-1190 Facsimile (616) 940-1192 Toll Free (888) 305-7775 OF COUNSEL: DOUGLAS W. VAN ESSEN ADMITTED IN MI DENISE M. HALLETT ADMITTED IN IN MELISSA Y, HOFFMAN ADMITTED IN NJ & PA DANIEL A. MANCINI ADMITTED IN N) & PA R, CARY MARSCHHAUSEN ADMITTED IN CO LISA HASTER ADMITTED IN MN CINQUE AXAM ADMITTED IN CA DANIELLE P. ROBERTS ADMITTED IN CA

Invoice submitted to:

Jaffe Pension Plan v. Household International

May 13, 2014

Invoice # 19201

Professional Services through April 30, 2014

			Hrs/Rate	<u>Amount</u>
4/1/2014 LDD	Review of objections and analysis of same. Preparation of memorandum regarding same.		1.50 300.00/hr	450.00
4/2/2014 LDD	Review of disputed issues and analysis of same. Preparation of memorandum regarding same.		3.00 300.00/hr	900.00
For p	rofessional services rendered	-	4.50	\$1,350.00
	Summary		D-4-	A
Name Laura D. Duston		<u>Hours</u> 4.50	Rate	<u>Amount</u> \$1,350.00

# EXHIBIT G TO MOTION AND BRIEF FOR PAYMENT OF FEES AND EXPENSES OF THE SPECIAL MASTER NO. 3

Invoice for Services from May 1, 2014 through May 31, 2014

A MICHIGAN PROFESSIONAL CORPORATION

PHILLIP S. STENGER
ADMITTED IN MI, KY, MN, CA & CO
KAY CRIFFITH HAMMOND
ADMITTED IN MI
LAURA D. DUSTON
ADMITTED IN MI, KY, CA, CO & MD
JOSEPH M. JAMMAL
ADMITTED IN MI & MN
AMANDA M. BREWSTER
ADMITTED IN MI
ARON S. MURRAY
ADMITTED IN IN
ANTHONY J. HUSPASKA

2618 East Paris Avenue, S.E. Grand Rapids, Michigan 49546

TELEPHONE (616) 940-1190 FACSIMILE (616) 940-1192 TOLL FREE (888) 305-7775 DOUGLAS W. VAN ESSEN ADMITTED IN MI DENISE M. HALLETT ADMITTED IN IN MELISSA Y, HOFFMAN ADMITTED IN NJ & PA DANIEL A. MANCINI ADMITTED IN NJ & PA R. GARY MARSCHHAUSEN ADMITTED IN CO LISA HASTER ADMITTED IN MN CINQUE AXAM  $\mathsf{ADMITTED}\,\mathsf{IN}\,\mathsf{CA}$ DANIELLE P. ROBERTS ADMITTED IN GA

OF COUNSEL:

Invoice submitted to:

ADMITTED IN OH

ADMITTED IN MI

OF COUNSEL:

LEE T. SILVER

Jaffe Pension Plan v. Household International

June 06, 2014

Invoice # 19201

Professional Services through May 31, 2014

		Hrs/Rate	Amount
5/5/2014 ANJ	Begin drafting compensation motion 3.	0.50 110.00/hr	55.00
5/19/2014 A <b>M</b> B	Research regarding B1 and B2 objections.	0.40 220.00/hr	88.00
5/22/2014 LDD	Receive and examine correspondence from M. Dowd regarding updated lists. Preparation of correspondence to staff regarding same.	0.20 300.00/hr	60.00
5/23/2014 KGH	Receive and review updated claim lists.	0.20 300.00/hr	60.00
5/27/2014 JLH	Continue drafting compensation motion 3.	0,80 110,00/hr	88.00
For p	rofessional services rendered	2.10	\$351.00
	Summary	na Data	Amount
Name Amanda M. Brewst	er Hou	rs Rate 40 220.00	<u>Amount</u> \$88.00

Jaffe Pension Plan v. Household International

4 -4-4 4

Page

2

Name	Hours	Rate	Amount
Andrea N. James	0.50	110.00	\$55.00
Jamie L. Hoag	0.80	110.00	\$88.00
Kay Griffith Hammond	0.20	300.00	\$60.00
Laura D. Duston	0.20	300.00	\$60.00

# EXHIBIT H TO MOTION AND BRIEF FOR PAYMENT OF FEES AND EXPENSES OF THE SPECIAL MASTER NO. 3

Invoice for Services from June 1, 2014 through June 30, 2014

A MICHIGAN PROFESSIONAL CORPORATION

PHILLIP S. STENGER
ADMITTED IN MI, KY, MN, GA & CO
KAY GRIFFITH HAMMOND
ADMITTED IN MI
LAURA D, DUSTON
ADMITTED IN MI, KY, GA, CO & MD
JOSEPH M. JAMMAL
ADMITTED IN MI & MN
AMANDA M. BREWSTER
ADMITTED IN MI
AARON S. MURRAY

2618 East Paris Avenue, S.E. Grand Rapids, Michican 49546

TELEPHONE (616) 940-1190 FACSIMILE (616) 940-1192 TOLL FREE (888) 305-7775

OF COUNSEL: DOUGLAS W. VAN ESSEN ADMITTED IN MI DENISE M. HALLETT ADMITTED IN IN MELISSA Y. HOFFMAN ADMITTED IN N) & PA DANIEL A. MANCINI ADMITTED IN NJ & PA R. GARY MARSCHHAUSEN ADMITTED IN CO LISA HASTER ADMITTED IN MN CINQUE AXAM ADMITTED IN GA DANIELLE P. ROBERTS ADMITTED IN GA

#### Invoice submitted to:

ADMITTED IN IN

ANTHONY J. HUSPASKA

ADMITTED IN OH

ADMITTED IN MI

OF COUNSEL:

LEE T. SILVER

Jaffe Pension Plan v. Household International

July 16, 2014

Invoice # 19205

#### Professional Services through June 30, 2014

				Hrs/Rate	Amount
6/6/2014	JLH	Update draft of compensation motion. Generate for review.		0.50 110.00/hr	55.00
6/12/2014	JLH	Update exhibits for compensation motion.		0.30 110.00/hr	33.00
6/20/2014	KGH	Receive and review joint agreed motion to continue discovery of claimants through October 31, 2014. Receive and review court granting motion.	List 2 order	0.20 300.00/hr	60.00
	JLH	Receive and review dockets. Save same to system.		0.30 110.00/hr	33.00
	For p	rofessional services rendered	•	1.30	\$181.00
		Summary			
Name			Hours	Rate	Amount
Jamie L. Hoa			1.10	110.00	\$121.00 \$60.00
Kay Griffith H	Hammo	ond	0.20	300.00	φου,υυ

# EXHIBIT I TO MOTION AND BRIEF FOR PAYMENT OF FEES AND EXPENSES OF THE SPECIAL MASTER NO. 3

Invoice for Services from October 1, 2014 through October 31, 2014

A MICHIGAN PROFESSIONAL CORPORATION

PHILLIP S. STENGER
ADMITTED IN MI, KY, MN. GA, CO & OH
KAY CRIFFITH HAMMOND
ADMITTED IN MI
LAURA D. DUSTON
ADMITTED IN MI, KY, GA, CO, MD & OH
JOSEPH M. JAMMAN

LAURA D. DUSTON
ADMITTED IN MI. KY, GA, CO, MD &
JOSEPH M. JAMMAL
ADMITTED IN MI & MN
AMANDA M. BREWSTER
ADMITTED IN MI
AARON S, MURRAY
ADMITTED IN IN
ANTHONY J. HUSPASKA
ADMITTED IN OH

CRAND RAPIDS, MICHICAN 49546

TELEPHONE (616) 940-1190

2618 East Paris Avenue, S.E.

TELEPHONE (616) 940-1190 FACSIMILE (616) 940-1192 TOLL FREE (888) 305-7775

OF COUNSEL: Douglas W., Van Essen ADMITTED IN MI DENISE M. HALLETT ADMITTED IN IN MELISSA Y. HOFFMAN ADMITTED IN NJ & PA Daniel A. Mancini ADMITTED IN NJ & PA R. GARY MARSCHHAUSEN ADMITTED IN CO LISA HASTER ADMITTED IN MN CINQUE AXAM Admitted in  $\mathsf{C}\mathsf{A}$ DANIELLE P. ROBERTS ADMITTED IN CA

Invoice submitted to:

OF COUNSEL:

LEE T. SILVER

ADMITTED IN MI

Jaffe Pension Plan v. Household International

November 07, 2014

Invoice # 19210

Professional Services through October 31, 2014

		Hrs/Rate	Amount
10/28/2014 PSS	Conference with team regarding status of matter.	0.20 350.00/hr	70.00
JLH	Conference with team regarding status of matter.	0.20 110.00/hr	22.00
KGH	Conference with team regarding status of matter.	0.20 300.00/hr	60.00
10/29/2014 AMB	Review status of the matter.	0.20 220.00/hr	44.00
10/30/2014 AMB	Review status of the matter. Participate in status meeting with P. Stenger, K. Hammond, L. Duston, and J. Hoag.	0.30 220.00/hr	66.00
LDD	Preparation for and attendance at staff meeting regarding status of matter.	0.50 300.00/hr	150.00
JLH	Prepare for and attendance at conference with team regarding status of matter.	0.40 110.00/hr	44.00

Jaffe Pension Plan v. Household International			Page	2
		Hrs/Rate	An	<u>nount</u>
10/30/2014 KGH Conference with team regarding status of matter.		0.30 300.00/hi		90.00
PSS Conference with team regarding status of matter.		0.30 350.00/hi		05.00
For professional services rendered		2.60	\$6	51.00
Summary				
Name	Hours	<u>Rate</u>		nount
Amanda M. Brewster	0.50	220.00		10.00
Jamie L. Hoag	0.60	110.00	•	66.00
Kay Griffith Hammond	0.50 0.50	300.00 300.00	•	50.00 50.00
Laura D. Duston	0.50	350.00		75.00
Phillip S. Stenger	0.00	550.00	Ψι	, 5.50

## EXHIBIT J TO MOTION AND BRIEF FOR PAYMENT OF FEES AND EXPENSES OF THE SPECIAL MASTER NO. 3

Invoice for Services from November 1, 2014 through November 30, 2014

A MICHIGAN PROFESSIONAL CORPORATION

PHILLIP S. STENCER
ADMITTED IN MI, KY, MN, GA, CO & OH
KAY CRIFFITH HAMMOND
ADMITTED IN MI
LAURA D. DUSTON
ADMITTED IN MI, KY, GA, CO, MD & OH
JOSEPH M. JAMMAL
ADMITTED IN MI & MN
AMANDA M. BREWSTER
ADMITTED IN MI
ARON S. MURRAY
ADMITTED IN IN

2618 East Paris Avenue, S.E. Crand Rapids, Michican 49546

TELEPHONE (616) 940-1190 FACSIMILE (616) 940-1192 TOLL FREE (888) 305-7775

Of Counsel: Douglas W. Van Essen ADMITTED IN MI DENISE M. HALLETT ADMITTED IN IN Melissa Y. Hoffman ADMITTED IN NJ & PA DANIEL A. MANCINI ADMITTED IN NJ & PA R. GARY MARSCHHAUSEN ADMITTED IN CO LISA HASTER ADMITTED IN MN CINQUE AXAM ADMITTED IN CA DANIELLE P. ROBERTS ADMITTED IN GA

Invoice submitted to:

OF COUNSEL:

LEE T. SILVER

ANTHONY J. HUSPASKA

ADMITTED IN OH

ADMITTED IN MI

Jaffe Pension Plan v. Household International

December 18, 2014

Invoice # 19211

Professional Services through November 30, 2014

		Hrs/Rate	Amount
11/3/2014 LDD	Review of latest lists of claimants from parties. Review of disputed claims and analysis of same.	4,00 300.00/hr	1,200.00
11/6/2014 LDD	Preparation for and attendance at staff status meeting.	0.70 300.00/hr	210.00
KGH	Conference with team regarding status of matter.	0.20 300.00/hr	60.00
JLH	Preparation for and attendance at staff status meeting.	0.20 110.00/hr	22.00
11/10/2014 KGH	Receive and review correspondence exchanges regarding currency of claim lists.	0,40 300.00/hr	120.00
LDD	Preparation of correspondence to parties regarding updated lists of claimants. Receive and review correspondence from M. Dowd regarding same. Receive and review correspondence from M. Rakoczy regarding same.	0.30 300.00/hr	90.00

Jaffe Pension Plan	v. Household International		P	age 2
		_	Hrs/Rate	Amount
11/11/2014 KGH	Receive and review correspondence from L. Duston regarding updates Lists 1-4.		0.20 300.00/hr	60.00
AMB	Review research regarding B.1 and B.2 Objections.		0.40 220.00/hr	88.00
LDD	Receive and review correspondence from parties regarding updated lists of claimants. Conference with J. Hoag regarding same.		0.20 300.00/hr	60.00
11/12/2014 KGH	Conference with L. Duston regarding reports to court.		0.20 300.00/hr	60.00
LDD	Conference with P. Stenger and staff regarding status of matter.		0.30 300.00/hr	90.00
JLH	Conference with staff regarding status of matter.		0.20 110.00/hr	22.00
For p	rofessional services rendered	-	7.30	\$2,082.00
	Summary			
Name Amanda M. Brewst Jamie L. Hoag Kay Griffith Hamme	der	Hours 0.40 0.40 1.00 5.50	Rate 220.00 110.00 300.00 300.00	Amount \$88.00 \$44.00 \$300.00 \$1,650.00
Laura D. Duston				

# EXHIBIT K TO MOTION AND BRIEF FOR PAYMENT OF FEES AND EXPENSES OF THE SPECIAL MASTER NO. 3

Invoice for Services from February 1, 2015 through February 28, 2015

A MICHICAN PROFESSIONAL CORPORATION

PHILLIP S. STENCER ADMITTED IN MI. KY, MN, CA, CO & OH KAY CRIFFITH HAMMOND ADMITTED IN MI Laura D. Duston ADMITTED IN MI, KY, GA, CO, MD & OH JOSEPH M. JAMMAL

ADMITTED IN MI & MN AMANDA M. BREWSTER ADMITTED IN MI AARON S. MURRAY ADMITTED IN IN ANTHONY J. HUSPASKA ADMITTED IN OH

KEITH SPARKS ADMITTED IN MI & MA

2618 EAST PARIS AVENUE, S.E. GRAND RAPIDS, MICHIGAN 49546

TELEPHONE (616) 940-1190 FACSIMILE (616) 940-1192 TOLL FREE (888) 305-7775

Of Counsel: LEE SILVER ADMITTED IN MI DOUCLAS W. VANESSEN ADMITTED IN MI DENISE M. HALLETT ADMITTED IN IN MELISSA Y. HOFFMAN ADMITTED IN NJ & PA R, CARY MARSCHHAUSEN ADMITTED IN CO LISA HASTER ADMITTED IN MN CINQUE AXAM ADMITTED IN CA DANIELLE P. ROBERTS ADMITTED IN CA

Invoice submitted to:

Jaffe Pension Plan v. Household International

March 12, 2015

Invoice # 19211

Kay Griffith Hammond

Professional Services through February 28, 2015

, , procedure			
		Hrs/Rate	Amount
2/26/2015 KGH Conference with L. Duston regarding outstanding issues.		0.80 300.00/hr	240.00
For professional services rendered	_	0.80	\$240.00
Summary	Hours	Rate	Amount
Name Kay Griffith Hammond	0.80	300.00	\$240.00

# EXHIBIT L TO MOTION AND BRIEF FOR PAYMENT OF FEES AND EXPENSES OF THE SPECIAL MASTER NO. 3

Invoice for Services from March 1, 2015 through March 31, 2015

A MICHIGAN PROFESSIONAL CORPORATION

PHILLIP S. STENCER
ADMITTED IN MI. KY, MN. CA, CO & OH
KAY CRIFFITH HAMMOND
ADMITTED IN MI
JOSEPH M. JAMMAL
ADMITTED IN MI, MN & WI
AMANDA M. BREWSTER
ADMITTED IN MI

AARON S. MURRAY ADMITTED IN IN ANTHONY J. HUSPASKA ADMITTED IN OH KEITH SPARKS

ADMITTED IN MI & MA

2618 East Paris Avenue, S.E. Grand Rapids, Michican 49546

TELEPHONE (GIG) 940-1190 FACSIMILE (GIG) 940-1192 TOLL FREE (888) 305-7775

OF COUNSEL: LEE SILVER ADMITTED IN MI Douglas W. Vanêssen ADMITTED IN MI DENISE M. HALLETT ADMITTED IN N Melissa Y, Hoffman ADMITTED IN NJ & PA R. GARY MARSCHHAUSEN ADMITTED IN CO LISA HASTER ADMITTED IN MN CINQUE AXAM ADMITTED IN CA DANIELLE P. ROBERTS ADMITTED IN CA

Invoice submitted to:

Jaffe Pension Plan v. Household International

April 20, 2015

Invoice # 19211

Professional Services through March 31, 2015

Profes	ssional Services through March 31, 2015		
		Hrs/Rate	Amount
3/10/2015 KGH	Receive and review plaintiff's motion for miscellaneous relief regarding hearing on plaintiff's fees and expense application. Receive and review Judge Guzman's order regarding rescheduled hearing on plaintiff's application for fees and expenses. Conference with L. Duston and A. Brewster regarding outstanding issues.	0.90 300.00/hr	270.00
For p	rofessional services rendered	0.90	\$270.00
	Summary	ra Poto	Amount
Name Kay Griffith Hammo	Hou 0.9		\$270.00

## EXHIBIT M TO MOTION AND BRIEF FOR PAYMENT OF FEES AND EXPENSES OF THE SPECIAL MASTER NO. 3

Invoice for Services from April 1, 2015 through April 30, 2015

A MICHIGAN PROFESSIONAL CORPORATION

PHILLIP S. STENGER
ADMITTED IN MI, KY, MN, GA, CO & OH
KAY GRIFFITH FIAMMOND
ADMITTED IN MI
JOSEPH M. JAMMAL
ADMITTED IN MI, MN, TN & WI

HEATHER R. PETERS ADMITTED IN IN. KY & OH AMANDA M. BREWSTER ADMITTED IN MI

AARON S. MURRAY ADMITTED IN IN ANTHONY J. HUSPASKA ADMITTED IN OH KEITH A, SPARKS ADMITTED IN MI & MA

M. KYLE FLOYD

ADMITTED IN GA

2618 East Paris Avenue, S.E. Crand Rapids, Michigan 49546

Telephone (616) 940-1190 Facsimile (616) 940-1192 Toll Free (888) 305-7775

Of Counsel: LEE SILVER ADMITTED IN MI DOUGLAS W VANESSEN ADMITTED IN MI DENISE M. HALLETT ADMITTED IN IN & IL Melissa Y. Hoffman ADMITTED IN NI & PA R, CARY MARSCHHAUSEN ADMITTED IN CO LISA A. HASTER ADMITTED IN MN CINQUE AXAM ADMITTED IN CA DANIELLE P. ROBERTS ADMITTED IN CA

Invoice submitted to:

Jaffe Pension Plan v. Household International

June 18, 2015

Invoice # 19211

Professional Services through April 30, 2015

		Hrs/Rate	Amount
4/14/2015 KGH	Conference with P. Stenger regarding status of case.	0.20 300.00/hr	60,00
4/15/2015 AMB	Conference with P. Stenger, K. Hammond and D. Van Essen regarding status of the matter.	2,20 220,00/hr	484.00
KGH	Attend conference with P. Stenger, D. Van Essen and A. Brewster regarding status of matter and disputed claim issues. Review proposed report and recommendation on defendants' category E and F objections.	3.30 300.00/hr	990.00
PSS	Preparation for and attendance at internal conference regarding status.	2.00 350.00/hr	700.00
DWV	Conference with P. Stenger, K. Hammond and A. Sneathen regarding status of matter.	2,00 325.00/hr	650.00
4/16/2015 KGH	Correspondence exchanges with D. Van Essen and P. Stenger regarding status meeting.	0.20 300.00/hr	60.00

Jaffe Pension Plan	v. Household International	P	age 2
		Hrs/Rate	Amount
4/16/2015 PSS	Correspondence exchanges with D. Van Essen and K. Hammond regarding status meeting.	0.20 350.00/hr	70.00
4/20/2015 KGH	Conference with J. Hoag regarding attorney analysis conference. Correspondence exchanges with P. Stenger and D. Van Essen regarding same.	0.40 300.00/hr	120.00
4/22/2015 DWV	Review opinions and issues in preparation for meeting.	3.00 325.00/hr	975.00
4/23/2015 KGH	Attend status conference with P. Stenger, D. Van Essen and A. Brewster. Preparation of correspondence to D. Van Essen regarding draft report and recommendation on category E and F objections. Receive and review correspondence from P. Stenger regarding next status meeting.	2.00 300.00/hr	600.00
АМВ	Conference with P. Stenger regarding status of the matter. Conference with D. Van Essen, P. Stenger, and K. Hammond regarding status of objections, pending report and recommendation regarding E & F objections, and status of the case.	2.10 220.00/hr	462.00
PSS	Review status. Attorney analysis conference regarding proposed report and recommendation and other related matters.	2.00 350.00/hr	700.00
DWV	Meet with Special master to review proposed filings.	2,00 325.00/hr	650,00
4/27/2015 AMB	Review List 4 and F objections. Preparation of correspondence to D. Van Essen regarding F objections.	0.20 220.00/hr	44.00
KGН	Receive and review correspondence from A. Brewster regarding overlap of category F.4 and F.1 claim objections. Review draft report and recommendations regarding category E and F objections.	1.00 300.00/hr	300.00
4/28/2015 DWV	Review proposed report and recommendation and A. Brewster's information. Prepare changes to upcoming report.	3.00 325.00/hr	975.00
4/29/2015 KGH	Receive and review D. Van Essen 's revisions to draft report and recommendations regarding category E and F claim objections.	0.60 300.00/hr	180.00
АМВ	Review pleadings. Review status of appeal and appellate briefings. Preparation of summary and timeline regarding status of the matter. Review prior correspondences with parties regarding objections, reports and recommendations, and status of the lists.	3.20 220.00/hr	704.00
4/30/2015 AMB	Preparation of timeline and materials for status meeting. Conference with P. Stenger, K. Hammond, and D. Van Essen regarding status of the matter and pending proposed report and recommendation. Make proposed revisions to draft report and recommendation regarding E & F objections. Preparation of correspondence to D. Van Essen regarding the same.	2,90 220,00/hr	638.00

Jaffe Pensio	n Plan	v. Household International		F	Page	3
				Hrs/Rate	Amg	<u>ount</u>
4/30/2015	KGH	Receive and review A. Brewster's revisions to report and recommendation regarding category E and F claim objections.		0,40 300.00/hr	12	00.0
	PSS	Review proposed report and recommendation. Attorney analysis conference regarding same.		2.00 350.00/hr	70	00.0
	DWV	Meet with Special Master and review proposed report and recommendation.		2.00 325.00/hr	65	0.00
	For pr	rofessional services rendered	•	36.90	\$10,83	2.00
		Summary		Data	۸ m	ount
Name	Drawet		Hours 10.60	<u>Rate</u> 220.00	\$2,33	
Amanda M. I Douglas W. \			12.00	325,00	\$3,90	
Kay Griffith	lammo	and	8.10	300.00	\$2,43	
Phillip S. Ste			6.20	350.00	\$2,17	0.00

# EXHIBIT N TO MOTION AND BRIEF FOR PAYMENT OF FEES AND EXPENSES OF THE SPECIAL MASTER NO. 3

Invoice for Services from May 1, 2015 through May 31, 2015

### STENCER & STENCER

A MICHICAN PROFESSIONAL CORPORATION

PHILLIP S. STENCER
ADMITTED IN MI. KY. MN. GA. CO & OH
KAY GRIFFITH HAMMOND
ADMITTED IN MI
JOSEPH M. JAMMAL
ADMITTED IN MI, MN. TN & WI
HEATHER R. PETERS
ADMITTED IN IN, KY & OH
AMADISA M. RESUSSITER

HEATHER R. PETERS
ADMITTED IN IN, KY & OH
AMANDA M. BREWSTER
ADMITTED IN MI
AARON S. MURRAY
ADMITTED IN IN
ANTHONY J. HUSPASKA
ADMITTED IN OH
KEITH A. SPARKS
ADMITTED IN MI & MA
M. KYLE FLOYD

2618 East Paris Avenue, S.E. Grand Rapids, Michican 49546

Telephone (616) 940-1190 Facsimile (616) 940-1192 Toll Free (888) 305-7775

Or Counsel: LEE SILVER ADMITTED IN MI Douglas W. VanEssen ADMITTED IN MI DENISE M. HALLETT ADMITTED IN IN Melissa Y. Hoffman ADMITTED IN NJ & PA R. GARY MARSCHHAUSEN ADMITTED IN CO LISA A. HASTER ADMITTED IN MN CINQUE AXAM ADMITTED IN CA Danielle P. Robert's ADMITTED IN CA

Invoice submitted to:

ADMITTED IN CA

Jaffe Pension Plan v. Household International

June 16, 2015

Invoice # 19211

Professional Services through May 31, 2015

		Hrs/Rate	Amount
5/4/2015 KGH	Receive and review correspondence from D. Van Essen regarding draft report and recommendation, and draft letter to counsel.	0.40 300.00/hr	120.00
DWV	Review changes made by A. Sneathen and draft letter to counsel and forward to P. Stenger.	3,00 325.00/hr	975.00
5/7/2015 DWV	Reviewing briefing in preparation for next recommendations.	2.50 325.00/hr	812.50
5/13/2015 KGH	Review professional fees for April.	0.20 300,00/hr	60.00
5/27/2015 KGH	Correspondence exchange with P. Stenger regarding draft correspondence to counsel. Receive and review correspondence from A. Brewster regarding 7th Circuit ruling on appeal. Receive and review 7th Cir. opinion.	1.00 300.00/hr	300.00
АМВ	Review opinion regarding 7th Circuit appeal. Preparation of correspondence to D. VanEssen, P. Stenger, and K. Hammond regarding the same.	0.30 220.00/hr	66.00

Jaffe Pension Plan v. Household International			age	2		
				Hrs/Rate	Am	<u>ount</u>
5/27/2015	PSS	Review prepared letter to counsel.		0.20 350.00/hr	7	0.00
	DWV	Review of 7th circuit opinion and revise letter to counsel.		3.00 325.00/hr	97	5,00
5/28/2015	KGH	Correspondence exchange with A. Brewster regarding draft lette counsel.	r to	0.40 300.00/hr	12	0.00
	For pr	ofessional services rendered		11.00	\$3,49	8.50
		Summary				
Name			Hours	Rate _		<u>iount</u>
Amanda M. E			0.30	220.00		6,00
Douglas W. \			8.50 2.00	325,00 300.00	\$2,76 \$60	00.00
Kay Griffith F Phillip S. Ste		nu	0.20	350.00		0.00

### EXHIBIT O TO MOTION AND BRIEF FOR PAYMENT OF FEES AND EXPENSES OF THE SPECIAL MASTER NO. 3

Invoice for Services from June 1, 2015 through June 30, 2015

A MICHIGAN PROFESSIONAL CORPORATION

PHILLIP S. STENCER
ADMITTED IN MI, KY, MN: CA, CO & OH
KAY GRIFFITH HAMMOND
ADMITTED IN MI
JOSEPH M. JAMMAL
ADMITTED IN MI. MN, TN & WI

HEATHER R. PETERS ADMITTED IN IN, KY & OH

AMANDA M. BREWSTER
ADMITTED IN MI
AARON S. MURRAY

ADMITTED IN IN ANTHONY J. HUSPASKA ADMITTED IN OH KEITH A. SPARKS

ADMITTED IN MI & MA M. KYLE FLOYD ADMITTED IN CA 2618 East Paris Avenue, S.E. Grand Rapids, Michigan 49546

Telephone (616) 940-1190 Facsimile (616) 940-1192 Toll Free (888) 305-7775

OF COUNSEL: LEE SILVER ADMITTED IN MI Douglas W. VanEssen ADMITTED IN MI DENISE M. HALLETT ADMITTED IN IN & IL Melissa Y. Hoffman ADMITTED IN NJ & PA R. CARY MARSCHHAUSEN ADMITTED IN CO LISA A. HASTER ADMITTED IN MN CINQUE AXAM ADMITTED IN CA DANIELLE P. ROBERTS ADMITTED IN CA

Invoice submitted to:

Jaffe Pension Plan v. Household International

July 23, 2015

Invoice # 19211

Professional Services through June 30, 2015

		Hrs/Rate	Amount
6/1/2015 AMB	Review Court of Appeals Opinion and begin preparation of summary for P. Stenger.	0.40 220.00/hr	88.00
DP	Preparation of compensation motion.	0.70 79.00/hr	55.30
6/2/2015 AMB	Continue preparation of memo regarding Court of Appeals decision. Propose changes to proposed letter to counsel. Preparation of correspondence to K. Hammond, P. Stenger, and D. Van Essen regarding the same.	0.70 220.00/hr	154.00
DVVV	Review memorandum and proposed changes to the letter and offer approval.	1.00 325.00/hr	325.00
6/3/2015 KGH	Receive and review correspondence from A. Sneathen regarding 7th Circuit opinion on appeal. Receive and review correspondences from P. Stenger, D. Van Essen and A. Sneathen regarding status of proceedings and draft letter to counsel. Review professional fees for May.	0.80 300.00/hr	240.00

Jaffe Pension Plar	v. Household International		Page 2
		Hrs/Rate	Amount
6/4/2015 AMB	Preparation of timeline of events for P. Stenger and compile past filings and letters for his review. Review status of the matter with P. Stenger.	0.90 220.00/hi	198.00
KGH	Receive and reivew correspondence from P. Stenger regarding draft letter to counsel. Receive and review correspondence from D. Van Essen regarding same.	0,40 300,00/h	120.00 r
PSS	Review matter, Review and revision of letter to counsel.	2,00 350.00/h	700.00
DWV	Review letter to counsel and make suggested change. Preparation of correspondence to P. Stenger regarding same.	0.50 325.00/h	162,50 r
6/8/2015 PSS	Review and execute letter to counsel.	0.20 350.00/h	70.00 r
6/9/2015 JLH	Receive and review letter to counsel. Coordinate service of same.	0.30 110.00/h	33,00 r
6/17/2015 JLH	Preparation of correspondence to counsel regarding conference.	0.20 110.00/h	22.00 r
6/18/2015 KGH	Receive and review correspondences from parties regarding case status. Receive and review parties' appellate briefs regarding application of Circuit Rule 36 to case on remand, and 7th Circuit's opinion ordering its application. Receive and review correspondence from A. Sneathen regarding same. Receive and review correspondence from P. Stenger regarding case status. Receive and review plaintiffs' motion to withdraw fee applications and adjourn related hearing. Review and update draft report and recommendation regarding E and F claim objections.	2.00 300.00/h	600.00 r
PSS	Receive and review correspondence from M. Dowd and R. Stoll. Attorney analysis conference with A. Sneathen regarding same.	0,30 350.00/h	105.00 r
JLH	Receive and review correspondence from counsel, Conference with A. Sneathen and P. Stenger regarding same.	0,20 110.00/h	22.00 r
D₩√	Review and revision of report and recommendation. Review motions regarding Rule 36; decision of 7th Circuit and positions of parties on meeting of special master team and counsel for case.	3,00 325,00/h	975,00 ir
6/22/2015 KGH	Update draft R&R regarding E and F claim objections. Preparation of correspondence to team regarding same. Correspondence exchanges with team regarding status meeting.	1.00 300.00/h	300,00 ir
6/24/2015 DWV	Attend status meeting.	1.00 325.00/h	325.00 nr
6/29/2015 DW\	Preparation of correspondence to lead counsel.	0.50 325.00/h	162.50 or

Jaffe Pension Plan v. Household International				3
For professional services rendered	<del></del>	Hours 16.10	4,65	<u>ount</u> 7.30
Additional Charges:				7.40
6/1/2015 Document Imaging: 37 documents @ \$0.20 = \$7.40				9.20
PACER Charges: Public Access to Court Records			<del></del>	
Total costs			<b>ДО</b>	6,60
Total amount of this bill			\$4,69	3.90
Summary	Hours	Rate	Am	<u>ount</u>
Name Amanda M. Brewster Daniel Paulson Douglas W. VanEssen Jamie L. Hoag Kay Griffith Hammond Phillip S. Stenger	2.00 0.70 6.00 0.70 4.20 2.50	220.00 79.00 325.00 110.00 300.00 350.00	\$44 \$5 \$1,95 \$7 \$1,26	0,00 5,30 0.00 7.00

## EXHIBIT P TO MOTION AND BRIEF FOR PAYMENT OF FEES AND EXPENSES OF THE SPECIAL MASTER NO. 3

Invoice for Services from July 1, 2015 through July 31, 2015

A MICHIGAN PROFESSIONAL CORPORA HON

PHILLIP S, STENCER
ADMITTED IN MILKY AND JAY CORROTT
RAY GRITHITH FARMOND
ADMITTED AND
ADMITTED AND THE SOLUTION
AND A M. BRIWSTER
ADMITTED IN MI

AARON S. MURRA) Admitted by In Anthony J. Huspaska Admitted by Oh Keith A. Sparks

ADMITTED IN MISS MA M. KYLI, FLOYD ADMITTED IN CA 2618 Last Paris Avenue, S.L. Grand Rapids, Michicak, 495-46

Telephone (GIG) 9,40-1190 | Lacsame (GIG) 9,40-1192 | Tole Erre (888) 305-7775

OF COUNSEL LEF SHATER Apparture MDOUGLAS W. J. AM, SSEN Apani na as Mi DISISEM HABIT ROMETER IN OFF MELISSAY HOLLMAN Apain replay NF6 FA R. GARY MARSCHHAUSEN ADMITTED RCO LISA A HASTER ADMITTED IN MN CINQUE AXAM ADMITTED IN CA DANIELLE P. ROBERTS Архиттерик СА

Invoice submitted to:

Jaffe Pension Plan v. Household International

August 14, 2015

Invoice # 19211

Professional Services through July 31, 2015

		Hrs/Rate	Amount
7/1/2015 PSS	Finalize report and recommendation. Send correspondence to counsel.	1.00 350.00/hr	350,00
DWV	Revise email to counsel.	0,30 325.00/hr	97.50
7/2/2015 KGH	Receive and review team correspondences regarding draft report and recommendation. Receive and review correspondence from P. Stenger to counsel regarding status of case. E-file report and recommendation regarding defendants' category E and F objections. Draft and e-file certificate of service. Preparation of correspondence to Judge Guzman regarding e-filings. Preparation of correspondence to counsel regarding same. Conference with J. Hoag regarding service of filings. Receive and review correspondence from R. Stoll regarding case status.	2.30 300.00/hr	690 00
JLH	Receive and review report and recommendation. Coordinate service of same.	0.60 110.00/hr	66.00

Jaffe Pensio	n Plan	v. Household International		Page 2
			Hrs/Rate	Amount
7/10/2015	KGH	Receive and review 7th Cir. opinion, order denying petition for rehearing, and mandate reversing and remanding case. Receive and review Rule 40.5 letter from District Court regarding reassignment of case to new judge.	0.40 300.00/l	120.00 nr
7/13/2015	KGH	Preparation of correspondence to team regarding 7th Cir. notice of issuance of mandate, and District Court's Rule 40.5 letter notice regarding reassignment to new judge.	0.20 300.00/	60.00 nr
7/24/2015	KGH	Receive and review executive committee order reassigning case for further proceedings. Preparation of correspondence to team regarding same. Receive and review plaintiffs' objections to special master's R&R on defendants' category E and F objections.	1.00 300.00/	300.00 hr
7/27/2015	KGH	Correspondence exchanges with team regarding plaintiffs' objections to R&R. and reassignment of case.	0.40 300.00/	120.00 hr
7/29/2015	KGH	Receive and review notice of reassignment status conference. Preparation of correspondence to J. Hoag regarding same. Receive and review correspondences from R. Stoll, M. Dowd and P. Stenger regarding report and recommendation and scheduling issues. Receive and review correspondences from D. Van Essen regarding status conference issues. Receive and review correspondences from P. Stenger regarding same. Receive and review plaintiff Glickenhaus motion to withdraw attorney appearances.	1.50 300.00/	450.00 hr
	DWV	Review status order and email and suggest conference meeting to Special Master.	0.50 325.00/	162.50 hr
7/31/2015	KGH	Receive and review notice of rescheduled status hearing date	0.20 300,00/	60.00 hr
	For pr	rofessional services rendered	8,40	\$2,476.00
	Additi	onal Charges :		
7/1/2015	PACE	R Charges: Public Access to Court Records		5.30
				7.26
	Total	costs		\$12,56
	Total	amount of this bill		\$2,488.56
Name		Summary Hou	ırs Rate	Amount
Douglas W. \ Jamie L. Hoa		sen 0.		\$260.00 \$66.00

Jaffe Pension Plan v. Household International

Page

3

Name	Hours	Rate	Amount
Kay Griffith Hammond	6.00	300.00	\$1,800.00
Phillip S Stenger	1 00	350.00	\$350.00

# EXHIBIT Q TO MOTION AND BRIEF FOR PAYMENT OF FEES AND EXPENSES OF THE SPECIAL MASTER NO. 3

Invoice for Services from August 1, 2015 through August 31, 2015

A MICHIGAN PROFESSIONAL CORPORATION

PHILLIP S. STENGER
ADMITTED IN MI. KY. MN, CA. CO & OH
KAY GRIFFITH HAMMOND
ADMITTED IN MI
JOSEPH M. JAMMAL
ADMITTED IN MI. MN, TN & WI
AMANDA M. SNEATHEN
ADMITTED IN MI
AARON S. MURRAY
ADMITTED IN IN
ANTHONY J. HUSPASKA
ADMITTED IN OH
KEITH A. SPARKS

ADMITTED IN MI & MA

ADMITTED IN CA

2618 East Paris Avenue, S.E. Grand Rapids, Michican 49546

Telephone (GIG):940-1190 Facsimile (GIG):940-1192 Toll Free (888):305-7775

OF COUNSEL LEE SILVER ADMITTED IN MI Douglas W. VanEssen ADMITTED IN MI DENISE M. HALLETT ADMITTED IN IN & IL Melissa Y. Hoffman ADMITTED IN NJ & PA R. Gary Marschhausen ADMITTED IN CO LISA A. HASTER ADMITTED IN MN CINQUE AXAM ADMITTED IN CA Danielle P. Roberts ADMITTED IN CA

Invoice submitted to:

M. KYLE FLOYD

Jaffe Pension Plan v. Household International

September 16, 2015

Invoice # 19211

Professional Services through August 31, 2015

		_Hrs/Rate	Amount
8/10/2015 KGH	Receive and review correspondence from P. Stenger regarding reassignment status conference, Review professional fees for July.	0.40 300.00/hr	120.00
8/17/2015 AMB	Review objection to R&R. Perform research regarding objection. Review objection with K. Hammond. Review status of the matter, objection, and upcoming status conference items with P. Stenger.	3.80 220.00/hr	836.00
KGH	Conference with A. Brewster concerning special master's obligation regarding evidence issues. Legal research regarding whether special master has to follow the federal rules of evidence. Correspondence exchanges with A. Brewster regarding same.	2.40 300.00/hr	720.00
PSS	Attorney analysis conference regarding status conference.	0.50 350,00/hr	175.00
8/18/2015 AMB	Preparation of memorandum regarding objection to report and recommendation. Telephone conference with P. Stenger and D. VanEssen to discuss status of the matter, status conference, and objection.	1.20 220.00/hr	264.00

Jaffe Pension Plan	v. Household International	P	age 2
		Hrs/Rate	Amount
8/18/2015 KGH	Receive and review agenda for status conference, and memo regarding plaintiff's objections to special master's latest report and recommendation. Receive and review correspondences from P. Stenger and D. Van Essen regarding status conference notice.	0.80 300.00/hr	240.00
PSS	Review case law regarding discretion of special master regarding evidentiary issues. Attorney analysis conference regarding same.	1.00 350.00/hr	350.00
8/20/2015 KGH	Receive and review order to file joint status report regarding proposals for the conduct of the case going forward.	0.20 300.00/hr	60.00
8/24/2015 DWV	Prepare for meeting in Chicago.	1.50 325.00/hr	487.50
8/25/2015 AMB	Conference with P. Stenger and D. Van Essen regarding status of the matter, status conference, and meeting with the parties. Review prior filings and status of objections.	2.20 220.00/hr	484.00
KGH	Receive and review parties joint status report.	0.20 300.00/hr	60.00
PSS	Preparation for status conference. Attorney analysis conference regarding same.	4,00 350,00/hr	1,400.00
DWV	Participate in telephone pre-status conference and review subsequent documents.	2.00 325.00/hr	650.00
8/26/2015 AMB	Conference with P. Stenger and D. VanEssen regarding status of the matter. Attendance at status conference and meeting with the parties.	6.00 220.00/hr	1,320.00
KGH	Receive and review minute entry regarding hearing on pending motions. Receive and review agreed order cancelling, releasing and discharging defendants' supersedeas bond.	0.20 300.00/hr	60.00
PSS	Attend status conference and post status conference meeting in Chicago.	4.00 350.00/hr	1,400.00
DWV	Travel to and from Chicago for status conference.	6.00 162.50/hr	975,00
DWV	Attend status conference and post status conference meeting in Chicago.	4.00 325.00/hr	1,300.00
PSS	Travel to and from Chicago for status conference.	6.00 175.00/hr	1,050.00
AMB	Travel to and from Chicago for status conference.	6,00 110.00/hr	660.00
8/27/2015 AMB	Preparation of draft correspondence to the parties. Preparation of correspondence to P. Stenger and D. VanEssen regarding the same. Make recommended changes.	0.20 220.00/hr	44.00

Jaffe Pension Plan v. Household International		1	<sup>2</sup> age	3
		Hrs/Rate	Amo	ount
8/27/2015 DWV Review and revise letter to counsel.		1.00 325.00/hr	32	5,00
8/31/2015 PSS Review and revision of letter to the parties.		0.50 350.00/hr	17	5.00
For professional services rendered		54.10	\$13,15	5.50
Summary				
Name	Hours	<u>Rate</u>		<u>ount</u>
Amanda M. Brewster	13.40	220.00	\$2,94	
Amanda M. Brewster	6.00	110.00		0.00
Douglas W. VanEssen	8,50	325.00	\$2,76	
Douglas W. VanEssen	6.00	162.50	\$1,26	5.00
Kay Griffith Hammond	4.20	300.00 350.00	\$3,50	
Phillip S. Stenger	10,00 6.00	175.00	\$1,05	
Phillip S. Stenger	٥.00	175.00	Ψ1,00	0.00

### EXHIBIT R TO MOTION AND BRIEF FOR PAYMENT OF FEES AND EXPENSES OF THE SPECIAL MASTER NO. 3

Invoice for Services from September 1, 2015 through September 30, 2015

A MICHIGAN PROFESSIONAL CORPORATION

PHILLIP S. STENCER
ADMITTED IN MI. KY, MN. GA. CO & OH
KAY GRIFFITH HAMMOND
ADMITTED IN MI
JOSEPH M. JAMMAL
ADMITTED IN MI. MN. TN & WI
AMANDA M. SNEATHEN
ADMITTED IN MI & IN
AARON S. MURRAY
ADMITTED IN IN
ANTHONY J. HUSPASKA

2618 East Paris Avenue, S.E. Grand Rapids, Michican 49546

Telephone (616) 940-1190 Facsimile (616) 940-1192 Toll Free (888) 305-7775

Of Counsels LEE SILVER ADMITTED IN MI Douglas W., VanEssen ADMITTED IN MI DENISE M. HALLETT ADMITTED IN IN & IL Melissa Y. Hoffman ADMITTED IN NI & PA R. GARY MARSCHHAUSEN ADMITTED IN CO LISA A. HASTER ADMITTED IN MN CINQUE AXAM ADMITTED IN CA DANIELLE P. ROBERTS ADMITTED IN CA

Invoice submitted to:

ADMITTED IN OH

ADMITTED IN CA

ADMITTED IN MI MA & IN

KEITH A. SPARKS

M. KYLE FLOYD

Jaffe Pension Plan v. Household International

October 21, 2015

Invoice # 19211

#### Professional Services through September 30, 2015

		Hrs/Rate	Amount
9/1/2015 KGH	Receive and review correspondence from P. Stenger to parties regarding status conference agreements.	0.20 300.00/hr	60.00
9/3/2015 KGH	Receive and review correspondence and updated claims lists regarding Household Claims from M. Dowd.	0.20 300,00/hr	60.00
9/8/2015 KGH	Receive and review Judge Alonso's order regarding remand proceedings.	0.20 300.00/hr	60.00
JLH	Review professional fees from counsel.	0.20 110.00/hr	22.00
9/9/2015 KGH	Receive and review correspondence from D. Van Essen regarding order concerning remand proceedings. Review draft compensation requests. Conferences and correspondence exchanges with J. Hoag regarding outstanding professional fees. Correspondence exchange with A. Brewster regarding same.	1,40 300.00/hr	420.00
9/10/2015 DWV	Review order and forward email suggestion regarding obtaining expert reports.	0.50 325.00/hr	162.50

Jaffe Pension Plan v. Household International				Р	age 2
				Hrs/Rate	Amount
9/14/2015	KGH	Review outstanding fees. Draft special master's compensation motion #3, proposed order and cover correspondence to Judge Guzman. Preparation of correspondence to J. Hoag regarding same.		1.00 300.00/hr	300,00
9/15/2015	KGH	Review professional fees for August.		0,20 300,00/hr	60.00
9/16/2015	KGH	Receive and review Household's motion for award of costs and to set briefing schedule on motion. Receive and review minute entry taking motion under advise and setting briefing schedule.		0.40 300.00/hr	120.00
9/23/2015	KGH	Receive and review updates to claims lists and correspondence from M. Dowd regarding same.		0.20 300.00/hr	60.00
	For pr	rofessional services rendered	_	4.50	\$1,324.50
	Additi	onal Charges :			
9/1/2015 PACER Charges: Public Access to Court Records					12.20
	Total	costs			\$12.20
	Total	amount of this bill			\$1,336.70
		Summary	ours	Rate _	Amount
Name Douglas W. \ Jamie L. Hoa Kay Griffith F	ag	sen	0.50 0.20 3,80	325,00 110.00 300,00	\$162.50 \$22.00 \$1,140.00

### EXHIBIT S TO MOTION AND BRIEF FOR PAYMENT OF FEES AND EXPENSES OF THE SPECIAL MASTER NO. 3

Invoice for Services from October 1, 2015 through October 31, 2015

A MICHIGAN PROFESSIONAL CORPORATION

PHILLIP S. STENGER
ADMITTED IN MI, KY, MN. GA, CO & OH
KAY GRIFFITH HAMMOND
ADMITTED IN MI
JOSEPH M. JAMMAL
ADMITTED IN MI, MN. TN, WI & MD
AMANDA M. SNEATHEN
ADMITTED IN MI, IN & NJ
AARON S. MURRAY
ADMITTED IN IN
ANTHONY J. HUSPASKA
ADMITTED IN OH
KEITH A. SPARKS
ADMITTED IN MI, MA & IN

2618 East Paris Avenue, S.E. Grand Rapids, Michigan 49546

Telephone (616) 940-1190 Facsimile (616) 940-1192 Toll Free (888) 305-7775

OF COUNSEL: LEE SILVER ADMITTED IN MI Douglas W. VanEssen ADMITTED IN MI DENISE M. HALLETT ADMITTED IN IN & IL MELISSA Y, HOFFMAN ADMITTED IN NJ & PA R. Cary Marschhausen ADMITTED IN CO LISA A. HASTER ADMITTED IN MN CINQUE AXAM ADMITTED IN CA DANIELLE P. ROBERTS ADMITTED IN GA

Invoice submitted to:

M. KYLE FLOYD

ADMITTED IN GA

Jaffe Pension Plan v. Household International

December 03, 2015

Invoice # 19211

Professional Services through October 31, 2015

		Hrs/Rate	Amount
10/2/2015 KGH	Receive and review correspondence from A. Sneathen regarding status of the case.	0.20 300.00/hr	60.00
10/6/2015 KGH	Review status of professional fees. Receive and review professional fees for August	0.40 300.00/hr	120.00
10/8/2015 KGH	Receive and review plaintiffs' memorandum in opposition to Household's motion for an award of costs, and declaration of M. Dowd in support of memorandum. Preparation of correspondence to team regarding same. Review status of professional fees.	0.60 300.00/hr	180.00
10/21/2015 KGH	Review professional fees for September. Receive and review advisory letter to court from L. Istre. Receive and review Household's reply in support of its motion to award appellate costs.	0.60 300.00/hr	180.00
10/22/2015 JLH	Update and review compensation motion No. 3. Prepare exhibits relating to same. Conference with K. Hammond regarding same.	1.20 110.00/hr	132.00

Jaffe Pension	n Plan	v. Household International		F	Page	2
			Hrs/Ra	<u>te</u>	<u>Am</u>	<u>ount</u>
10/23/2015	KGH	Receive and review defendants' motion to exclude testimony of plaintiffs' expert, D. Fischel, supporting memorandum and appendix of experts' reports. Preparation of correspondence to P. Stenger regarding same.	0.6 300.0		18	0.00
10/27/2015	KGH	Receive and review correspondence from D. Van Essen regarding defense experts' view on whether some per diem damage exists. Review defendants' expert reports in support of motion to exclude testimony of plaintiffs' expert. Preparation of correspondence to team regarding same.	0.8 300.0		24	0.00
10/28/2015 I	KGH	Receive and review correspondence from D. Van Essen regarding Household's motion to exclude testimony of plaintiff's expert. Receive and review correspondence from P. Stenger regarding same. Receive and review correspondence from A. Sneathen regarding same.	0.6 300.0	-	180	0.00
	PSS	Receive and review correspondence from K. Hammond regarding defendants' motion to exclude testimony of plaintiff's expert.  Preparation of correspondence regarding same.	0.2 350.0		70	0.00
F	For pr	ofessional services rendered	5.2	 20	\$1,342	2.00
A	Additio	onal Charges :			, ,, =	
10/1/2015 F	PACE	R Charges: Public Access to Court Records			1!	5.80
ר	Fotal c	costs		-	\$18	5.80
7	Fotal a	amount of this bill			\$1,357	7.80
<u>Name</u>		Summary				
Jamie L. Hoag Kay Griffith Ha Phillip S. Steng	mmor	na 3.	<u>urs</u> <u>Rat</u> 20 110.0 80 300.0 20 350.0	10 10	Amo \$132 \$1,140 \$70	2.00

### EXHIBIT T TO MOTION AND BRIEF FOR PAYMENT OF FEES AND EXPENSES OF THE SPECIAL MASTER NO. 3

Invoice for Services from November 1, 2015 through November 30, 2015

A MICHIGAN PROFESSIONAL CORPORATION

PHILLIP S. STENGER
ADMITTED IN MI, KY, MN GA, CO & OH
KAY GRIFFITH HAMMOND
ADMITTED IN MI
JOSEPH M. JAMMAL
ADMITTED IN MI, MN, TN, WI & MD
AMANDA M, SNEATHEN
ADMITTED IN MI, IN & NJ
AARON S. MURRAY
ADMITTED IN IN
ANTHONY J. HUSPASKA
ADMITTED IN OH
KEITH A. SPARKS
ADMITTED IN MI, MA & IN
M. KYLE FLOYD

2618 East Paris Avenue, S.E. Grand Rapids, Michigan 49546

TELEPHONE (616) 940-1190 Facsimile (616) 940-1192 Toll Free (888) 305-7775

OF COUNSEL: LEE SILVER ADMITTED IN MI DOUGLAS W. VANESSEN ADMITTED IN MI DENISE M. HALLETT ADMITTED IN IN & IL Melissa Y. Hoffman ADMITTED IN NJ & PA R. GARY MARSCHHAUSEN ADMITTED IN CO. LISA A. HASTER ADMITTED IN MN CINQUE AXAM ADMITTED IN GA DANIELLE P. ROBERTS ADMITTED IN GA

Invoice submitted to:

ADMITTED IN CA

Jaffe Pension Plan v. Household International

December 17, 2015

Invoice # 19211

Professional Services through November 30, 2015

		Hrs/Rate	Amount
11/10/2015 KGH	Preparation of correspondence to P. Stenger regarding order granting defendant's motion for appellate costs.	0.20 300.00/hr	60.00
11/12/2015 KGH	Receive and review court docket text regarding transcript of proceedings held before Judge Alonso on August 26, 2015.	0.20 300.00/hr	60.00
11/24/2015 KGH	Receive and review plaintiffs' motion to preclude defendants from substituting new experts, notice of motion and supporting affidavit. Preparation of correspondence to P. Stenger regarding same. Receive and review declaration of L. Brooks in support of plaintiffs' opposition to defendants' motion to exclude Fischel testimony, and memorandum in support of plaintiffs' opposition. Preparation of correspondence to P. Stenger regarding same.	0.80 300.00/hr	240.00
For pr	ofessional services rendered	1.20	\$360.00

Jaffe Pension Plan v. Household International	Page	e 2
Additional Charges:		
		Amount
11/1/2015 PACER Charges: Public Access to Court Records		10.20
Total costs		\$10.20
Total amount of this bill	9	3370.20
Name Summary	Hours Rate	Amount
Kay Griffith Hammond		360.00

### EXHIBIT U TO MOTION AND BRIEF FOR PAYMENT OF FEES AND EXPENSES OF THE SPECIAL MASTER NO. 3

Invoice for Services from December 1, 2015 through December 31, 2015

A MICHIGAN PROFESSIONAL CORPORATION

PHILLIP S, STENGER
ADMITTED IN MI, KY, MN, GA, CO & OH
KAY GRIFFITH HAMMOND
ADMITTED IN MI
JOSEPH M. JAMMAL
ADMITTED IN MI, MN, TN, WI & MD
AMANDA M. SNEATHEN
ADMITTED IN MI, IN & NJ
AARON S, MURRAY
ADMITTED IN IN
ANTHONY J, HUSPASKA
ADMITTED IN OH
KEITH-A, SPARKS

ADMITTED IN MI. MA & IN

2618 East Paris Avenue, S.E. Grand Rapids, Michigan 49546

Telephone (616) 940-1190 Facsimile (616) 940-1192 Toll Free (888) 305-7775

OF COUNSEL: LEE SILVER ADMITTED IN MI Douglas W. VanEssen ADMITTED IN MI DENISE M. HALLETT ADMITTED IN IN & IL Melissa Y. Hoffman ADMITTED IN NI & PA R. Gary Marschhausen ADMITTED IN CO Lisa A. Haster ADMITTED IN MN CINQUE AXAM ADMITTED IN CA Danielle P. Roberts ADMITTED IN CA

Invoice submitted to:

M. KYLE FLOYD

ADMITTED IN CA

Jaffe Pension Plan v. Household International

January 06, 2016

Invoice # 19211

Professional Services through December 31, 2015

		_	Hrs/Rate	Amount
12/22/2015 KGH	Receive and review defendants' response in opposition to plaintimotion to preclude defendants from substituting new experts. Receive and review defendants' reply in support of their motion texclude testimony of plaintiffs' expert D. Fischelf, and appendix exhibits to reply. Receive and review minute entry setting deadl defendants to file documents cited in expert report of A. Ferrell. Preparation of correspondence to P. Stenger regarding same.	0	1.00 300.00/hr	300.00
12/28/2015 KGH	Receive and review defendants' filings concerning documents ci and relied upon in Professor A. Ferrell's expert and rebuttal repo Review status of professional fees.	ted orts	0.60 300.00/hr	180.00
For professional services rendered		1.60	\$480.00	
	Summary	Hours	Pata	Amount
Name Kay Griffith Hammo	ond	<u>Hours</u> 1.60	Rate	<u>Amount</u> \$480.00